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CHEMISTRY

BOOKS - UNIVERSAL BOOK DEPOT 1960
CHEMISTRY (HINGLISH)

CLASSIFICATION OF ELEMENTS AND PERIODIC
PROPERTIES

Ordinary Thinking Objective Questions Extended Or Long

Form Of Periodic Table

1. Modern periodic table is based on the atomic number

of the elements. The experiment which proved the



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eg96u3grqZqz

significance of the atomic number was

A. Mullikan's oil drop experiment

B. Moseley's work on X-ray spectra

C. Bragg's work on X-ray diffraction

D. Discovery of X-ray by Rontgen

Answer: B

o Watch Video Solution

2. The electronic configuration of an element X is
152, 2s%, 2p%, 3s%, 3p>. What is the atomic number of the
element which is just below the element X in the

periodic table?


https://dl.doubtnut.com/l/_eg96u3grqZqz
https://dl.doubtnut.com/l/_5eSOG4sYwCVQ

A.33

B.34

C. 31

D. 49

Answer: A

o Watch Video Solution

3. An atom  has electronic  configuration
1522522p°3523P%3d%4s* . In which group wouold it be

placed ?

A. Second group


https://dl.doubtnut.com/l/_5eSOG4sYwCVQ
https://dl.doubtnut.com/l/_sZNJnTEyZhfj

B. Third group

C. Fifth group

D. Sixth group

Answer: C

° Watch Video Solution

4.The number of d-electrons in Fe?t (z=26) is not equal

to the number of electrons in which one of the following

?

A. p-electrons in Cl (Z=17)

B. d-electrons in Fe (Z=26)


https://dl.doubtnut.com/l/_sZNJnTEyZhfj
https://dl.doubtnut.com/l/_iMzLLUM4LrhD

C. p-electrons in Ne (Z=10)

D. s-electrons in Mg (Z=12)

Answer: A

o Watch Video Solution

5. Elements up to atomic number 103 have been
synthesized and studied. If a newly discovered element is
found to have an atomic number 106, its electronic

configuration will be

A.[Rn]5f1*6d*7s?

B. [Rn]5f'46d°7s


https://dl.doubtnut.com/l/_iMzLLUM4LrhD
https://dl.doubtnut.com/l/_zj6ZBaJxLhWF

C. [Rn]5f*6d°%7s"

D. [Rn]5f**6d!7s*7p®

Answer: A

o Watch Video Solution

6. Chloride of an element A gives neutral solution in

watt . In the periodic table, the elements A belong to

A. First group

B. Third group

C. Fifth group

D. First transition series


https://dl.doubtnut.com/l/_zj6ZBaJxLhWF
https://dl.doubtnut.com/l/_oOC3i8kigAnL

Answer: A

o Watch Video Solution

7. Which of the following compounds are analogous to

the lanthanides?

A. Actinides

B. Borides

C. Carbides

D. Hydrides

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oOC3i8kigAnL
https://dl.doubtnut.com/l/_H4NJnsTMWunK

8. Which of the following is the atomic number of a

metal?

A.32

B.34

C.36

D. 38

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_H4NJnsTMWunK
https://dl.doubtnut.com/l/_q9vPXydLi7fP

9. Which of the following statement is not correct
regarding hydrogen atom?

A. It resembles halogens in some properties

B. It resembles alkali metals in some properties

C. It can be placed in 7th group of periodic table

D. It can not be placed in first group of periodic table

Answer: C

o Watch Video Solution

10. Which of the following is metalloid


https://dl.doubtnut.com/l/_yX9WmuVMYurT
https://dl.doubtnut.com/l/_po8ALtlqGvdN

A.Pb

B.Zn

C.As

D. None of these

Answer: C

o Watch Video Solution

11. Which of the following pair has both members from

the same group of the periodic table?

A. Na-Na

B. Na-Cl


https://dl.doubtnut.com/l/_po8ALtlqGvdN
https://dl.doubtnut.com/l/_7zdX61aRWOS1

C. Ca-Cl

D. CI-Br

Answer: B

o Watch Video Solution

12. Who is called the father of chemistry

A. Faraday

B. Priestley

C. Rutherford

D. Lavoiser


https://dl.doubtnut.com/l/_7zdX61aRWOS1
https://dl.doubtnut.com/l/_SdRblcxGzEBK

Answer: D

o Watch Video Solution

13. The elements with atomic number 10, 18, 36, 54 and

86 are all

A. Light metals

B. Inert gases

C. Halogens

D. Rare-earths

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SdRblcxGzEBK
https://dl.doubtnut.com/l/_FuljJ4i9QKqY

14. The heaviest atom amongst the following is

AU

B. Ra

C.Pb

D. Hg

Answer: A

° Watch Video Solution

15. the elements on the right side of the periodic table

are


https://dl.doubtnut.com/l/_FuljJ4i9QKqY
https://dl.doubtnut.com/l/_hLwPifV1eUWR
https://dl.doubtnut.com/l/_JEM69bhi9wW9

A. Metalss

B. Metalloids

C. Non-metals

D. Transition elements

Answer: C

o Watch Video Solution

16. The most important active step in the development

of periodic table was taken by

A. Mendeleev

B. Dalton


https://dl.doubtnut.com/l/_JEM69bhi9wW9
https://dl.doubtnut.com/l/_kVC41Zbarugx

C. Avogadro

D. Cavendish

Answer: A

o Watch Video Solution

17. Elements of atomic number 6 is placed in

A. IV group

B. IV period

C. VI group

D. lll group


https://dl.doubtnut.com/l/_kVC41Zbarugx
https://dl.doubtnut.com/l/_OnCm6zqeUbcw

Answer: A

o Watch Video Solution

18. The elements A, B, C and D have indicated electronic

arrangement, which is the most metallic element?

A. A=284

B.B=2,8,8

C.C=288,

D. D=2,8,8,7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OnCm6zqeUbcw
https://dl.doubtnut.com/l/_d2pP09PQywSB

19. In the periodic table, going down in fluorine group

A. Reactivity will increase
B. Electronegativity will increase
C. lonic radius will increase

D. lonisation potential will increase

Answer: C

o Watch Video Solution

20. The element having the electronic configuration

[K7]4d(10)4f*5525p°5d%6s° belongs to



https://dl.doubtnut.com/l/_d2pP09PQywSB
https://dl.doubtnut.com/l/_IaPbjoXDyYkQ
https://dl.doubtnut.com/l/_EgftADFPrpis

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

o Watch Video Solution

21. Which of the following pairs has both members from

the same group of the periodic table ?

A. Mg-Ba

B. Mg-Na


https://dl.doubtnut.com/l/_EgftADFPrpis
https://dl.doubtnut.com/l/_pPKYyMJ3IyPI

C. Mg-Cu

D. Mg-K

Answer: A

o Watch Video Solution

22.The long form of periodic table has

A. Eight horizontal rows and seven vertical columns

B.Seven horizontal rows and eighteen vertical

columns

C. Seven horizontal rows and seven vertical columns

D. Eight horizontal rows and eight vertical columns


https://dl.doubtnut.com/l/_pPKYyMJ3IyPI
https://dl.doubtnut.com/l/_krx4izeo9RSB

Answer: B

o Watch Video Solution

23. On moving from left to right across a period in the

periodic table the metallic character

A. Increase

B. Decreases

C. Remains constant

D. First increase and then decreases

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_krx4izeo9RSB
https://dl.doubtnut.com/l/_ktMnx92va0fy

24. The element with electronic configuration
1322322196332 is

A. A metal

B. A non-metal

C. An inert gas

D. A metalloid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ktMnx92va0fy
https://dl.doubtnut.com/l/_Dv0A0ACzwiXg

25, the tenth elements in the periodic table resembles

with the

A. First period

B. Second period

C. Fourth group

D. Ninth group

Answer: B

o Watch Video Solution

26. Aluminium is diagonally related to (in periodic table)



https://dl.doubtnut.com/l/_ldHl4FkikyAa
https://dl.doubtnut.com/l/_a2hD3USbyw51

A. Li

B.C

C.B

D. Be

Answer: D

o Watch Video Solution

27. An element with atomic number 29 belongs to

A. s-block

B. p-block

C.d-block


https://dl.doubtnut.com/l/_a2hD3USbyw51
https://dl.doubtnut.com/l/_SWrPQXAYkPzn

D. f-block

Answer: C

o Watch Video Solution

28. The total number of rare earth elements is

A.8

B.32

C.14

D.10

Answer: C

[ o war_ao_L vl e~_ .. _


https://dl.doubtnut.com/l/_SWrPQXAYkPzn
https://dl.doubtnut.com/l/_qA6gBrV79saF
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29. The long form of periodic table is based on

A. Shape of the atom

B. Mass of the atom

C. Atomic number of the atom

D. Electronegativity

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qA6gBrV79saF
https://dl.doubtnut.com/l/_KlBtmtHqxeje

30. Which of the following denegative anion is quite

common?

A S%-

B. Se?~

C.Te>~

D.0*"

Answer: D

o Watch Video Solution

3. An element has electronic configuration

1522522p°35%3p*. Predict its group, period and block


https://dl.doubtnut.com/l/_eL6lhChS3gxY
https://dl.doubtnut.com/l/_4JW3LJ9dX7nd

A. Period = 3", block = p, group = 16
B. Period = 5%, block = s, group =1
C. Period = 3™, block = p, group = 10

D. Period = 4th, block =d, group =12

Answer: A

° Watch Video Solution

32.The lightest metal is

A. Li

B. Mg

C.Ca


https://dl.doubtnut.com/l/_4JW3LJ9dX7nd
https://dl.doubtnut.com/l/_l8FRawccV31f

D. Na

Answer: A

o Watch Video Solution

33. The telluric helix was given by

A. De Chan Courtois

B. Newlands

C. L.Meyer

D. Mendeleev

Answer: A

[ o war_ao_L vl e~_ .. _


https://dl.doubtnut.com/l/_l8FRawccV31f
https://dl.doubtnut.com/l/_SGHiK7ESU16q
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34. Which of the following elements is a lanthanide

(Rare-earth element) ?

A. Cadmium

B. Californium

C. Cerium

D. Cesium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SGHiK7ESU16q
https://dl.doubtnut.com/l/_uLVVaxTDcdfj

35. The most common lanthanoid is :

A. Lanthanum

B. Cerium

C. Samarium

D. Plutonium

Answer: B

° Watch Video Solution

36. Lithium shows similarities to magnesium in its

chemical behaviour because.


https://dl.doubtnut.com/l/_vqBSK3KNyeMQ
https://dl.doubtnut.com/l/_PdeJ7VhRrRyU

A.Similar size, same electronegativity and lower

polarizing power

B. Similar size, greater electronegativity and similar

polarizing power

C.Similar size, same electronegativity and similar

high polarizing power

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PdeJ7VhRrRyU

37. Which of the following has the same number of

electrons in its outermost shell and penultimate shell ?

A.N,O

B.Na, Ca

C.As, Bi

D.Pb,Sb

Answer: C

o Watch Video Solution

38. Which of the following does not reflect periodicity of

elements ?


https://dl.doubtnut.com/l/_Cnun6XPpUveg
https://dl.doubtnut.com/l/_kjvf7pg2E1xQ

A.Bonding behaviour

B. Electronegativity

C. lonisation energy

D. Neutron/proton ratio

Answer: D

o Watch Video Solution

39. The element with atomic number 9, 17, 35, 53, 85 are

all

A. Noble gases

B. Halogens


https://dl.doubtnut.com/l/_kjvf7pg2E1xQ
https://dl.doubtnut.com/l/_HUg4gQUUWMc1

C. Heavy metals

D. Light metals

Answer: B

o Watch Video Solution

40. Chemical property of Li and Mg are similar because

A. These belong to same group

B. Both ionisation potential is same

C. Shows diagonal relationship

D. Both electron affinity is same


https://dl.doubtnut.com/l/_HUg4gQUUWMc1
https://dl.doubtnut.com/l/_G6sf9yiQfSua

Answer: C

° Watch Video Solution

41.Be and Al exhibit diagonal relationship . Which of the
following statements about them is/are not true ?

(i) Both react with HCl to liberate H,.

(ii) They are made passive by HNOs.

(i) Their carbides give acetylene on treatment with
water .

(iv) Their oxides are amphoteric .

A. Only (i)

B. (ii) and (iii)


https://dl.doubtnut.com/l/_G6sf9yiQfSua
https://dl.doubtnut.com/l/_GcKpzukdL3t5

C. Only (iv)

D. (ii) and (iv)

Answer: C

o Watch Video Solution

42.The electronic configuration of four elements are :
(P) [Xe]682

(Q) [Xe]4f', 5d', 65>

(R) [Ar]4s?, 4p°

(S) [Ar]3d™°, 452, 4p°

Which of the following is/are correct?


https://dl.doubtnut.com/l/_GcKpzukdL3t5
https://dl.doubtnut.com/l/_wMgPE8pvu4A9

Answer: c

° Watch Video Solution

43. An element X belongs to the fourth period and the
fifteenth group of the periodic table. Which one of the
following is true regarding the outer electronic

configuration of X? It has


https://dl.doubtnut.com/l/_wMgPE8pvu4A9
https://dl.doubtnut.com/l/_cu8eRiOqFMlF

A. Partially filled d orbitals and completely filled s

orbitals

B. Completely filled s-orbital and completely filled p-

orbitals

C. Completely filled s-orbital and half-filled p-orbitals

D. Half-filled d-orbitals and completely filled s-orbitals

Answer: C

° Watch Video Solution

44.Diagonal relationship is shown by

A. Elements of first period


https://dl.doubtnut.com/l/_cu8eRiOqFMlF
https://dl.doubtnut.com/l/_H0eJ9ohoElhc

B. Elements of second period

C. Elements of third period

D. Both (b) and (c)

Answer: D

° Watch Video Solution

45, Last element of group-lV is found to be

A. Strong metallic

B. Weak metallic

C. Strong non-metallic

D. Weak non-metallic


https://dl.doubtnut.com/l/_H0eJ9ohoElhc
https://dl.doubtnut.com/l/_s3ydaCIdUiks

Answer: B

o Watch Video Solution

46. Elements of d-group are called

A. Transition elements

B. Transuranic elements

C. Metals

D. Metalloids

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_s3ydaCIdUiks
https://dl.doubtnut.com/l/_qc4psIrlxOcb
https://dl.doubtnut.com/l/_24lNumQ6w9SJ

47. Which one of the following configuration represents
a noble gas ?

A. 15°25%2p935%3p%3d1%45>

B. 15225%2p%35%3p"

C. 15%25%2p°

D. 15%2522p®3s*

Answer: c

o Watch Video Solution

48. The last member in each period of the periodic table

is


https://dl.doubtnut.com/l/_24lNumQ6w9SJ
https://dl.doubtnut.com/l/_kAyhWsHz8ipt

A. An inert gas element

B. A transition element

C. A halogen

D. An alkali metal

Answer: A

o Watch Video Solution

49. Which one of the following combination represent a

metallic element?

A.2,8,7

B.2,8,8


https://dl.doubtnut.com/l/_kAyhWsHz8ipt
https://dl.doubtnut.com/l/_70qPAK1L7dby

C.2,8,4

D.2,8,2

Answer: D

o Watch Video Solution

50. Which pair of elements has same chemical properties

?

A. 13,22

B.3, 1

C. 4,24

D.2,4


https://dl.doubtnut.com/l/_70qPAK1L7dby
https://dl.doubtnut.com/l/_1VbOIYUGuJYf

Answer: B

o Watch Video Solution

51. In the long form of periodic table all the non-metals

are placed under

A. s-block

B. p-block

C. d-block

D. f-block

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1VbOIYUGuJYf
https://dl.doubtnut.com/l/_wn5dbUSTYpvM

52. Which pair of atomic numbers represent s-block

elements?

A. 7,15

B. 6,12

C.9,17

D. 3,12

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wn5dbUSTYpvM
https://dl.doubtnut.com/l/_wqP0jJTJ8R7G

53. According to modern periodic law, the physical and

chemical properties of elements are the periodic

functions of their ?

A. Atomic volume

B. Atomic Number

C. Atomic weight

D. Atomic size

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DspceXyRruWo

54.Which among the following has smallest bond angle

?
A. H,O
B. NH;
C.CH,
D. CO,

Answer: A

o Watch Video Solution

55. The metal-having highest melting point is



https://dl.doubtnut.com/l/_jT4tU2saHWJ6
https://dl.doubtnut.com/l/_6LRfCfuRDF5r

A. Chromium

B. Tungsten

C. Diamond

D. Silver

Answer: B

o Watch Video Solution

56. The element with atomic number 117 if discovered

would be placed in

A. Noble gas family

B. Alkali family


https://dl.doubtnut.com/l/_6LRfCfuRDF5r
https://dl.doubtnut.com/l/_g7ncd3QlEqqK

C. Alkaline earth family

D. Halogen family

Answer: D

o Watch Video Solution

57. The d-block elements consists mostly of

A. Monovalent metals

B. All non-metals

C.Elements which generally form stoichiometric

metal oxide

D. Many metals with catalytic properties


https://dl.doubtnut.com/l/_g7ncd3QlEqqK
https://dl.doubtnut.com/l/_OxF1wIPMBpuf

Answer: D

o Watch Video Solution

58. The element with atomic number 57 belongs to:

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OxF1wIPMBpuf
https://dl.doubtnut.com/l/_AFjfJely0Utc
https://dl.doubtnut.com/l/_bfeWiIaCilVD

59. The electronic configuration of an atom A is
152, 25%2p°, 35%23p°3d1?, 45%4p>. The chemistry of A is
therefore likely to be similar to that of

A. Chlorine

B. Nitrogen

C. Oxygen

D. Boron

Answer: B

o Watch Video Solution

60. Alkali metals in each period have


https://dl.doubtnut.com/l/_bfeWiIaCilVD
https://dl.doubtnut.com/l/_awQCGQ472ysg

A. Smallest size

B. Lowest ionisation potential

C. Highest ionisation potential

D. Highest electronegativity

Answer: B

o Watch Video Solution

61. A metal having electronic configuration

152, 25%2p%, 35%3p%3d 10, 452 is in

A. s-block

B. p-block


https://dl.doubtnut.com/l/_awQCGQ472ysg
https://dl.doubtnut.com/l/_sF9270RJVEi4

C. d-block

D. f-block

Answer: C

o Watch Video Solution

62. Element of atomic number 23 is placed in the

periodic table in

A. s-block

B. p-block

C. d-block

D. f-block


https://dl.doubtnut.com/l/_sF9270RJVEi4
https://dl.doubtnut.com/l/_wP9H14ois1Nl

Answer: C

o Watch Video Solution

63. All the elements in a group in the periodic table have

the same

A. Atomic number

B. Electronic configuration

C. Atomic weight

D. Number of electrons in the outermost shell or

number of electrons for bonding

Answer: D



https://dl.doubtnut.com/l/_wP9H14ois1Nl
https://dl.doubtnut.com/l/_oYhDQzTSFK4D

I o Watch Video Solution

64. Which of the following remains unchanged in

descending in a group in the periodic table?

A. Atomic size

B. Density

C. Valence electrons

D. Metallic character

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oYhDQzTSFK4D
https://dl.doubtnut.com/l/_YceU8aY1RYFP

65. In the periodic table, the element with atomic

number 16 will be placed in the group

A. Third

B. Fourth

C. Fifth

D. Sixth

Answer: D

o Watch Video Solution

66. Which one of the following elements is most

metallic?


https://dl.doubtnut.com/l/_Zw59V9v0MZhN
https://dl.doubtnut.com/l/_2tZA7VECqjgF

A.P

B. As

C.Sb

D. Bi

Answer: D

o Watch Video Solution

67. Which of the following pairs show diagonal

relationship?

A.B and Si

B. B and Al


https://dl.doubtnut.com/l/_2tZA7VECqjgF
https://dl.doubtnut.com/l/_wB4R5LVwfG6s

C.B and Ga

D.Band C

Answer: A

o Watch Video Solution

68. On going left to right in a period, in transition

metals, their atomic volumes

A. Decrease

B. Increase

C. Remain same

D. None of these of correct


https://dl.doubtnut.com/l/_wB4R5LVwfG6s
https://dl.doubtnut.com/l/_yf99uh6MVmge

Answer: D

o View Text Solution

69. The elements in which 4f orbitals are progressively

field up are called as

A. Transition elements

B. Lanthanides

C. Actinides

D. Inert gases

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yf99uh6MVmge
https://dl.doubtnut.com/l/_URBMlkxPkv3i

70. Who developed the long form of periodic table?

A. Lother Meyer

B. Niels Bohr

C. Mendeleev

D. Moseley

Answer: B

o Watch Video Solution

71. The hydration energy of Mg® ™" is larger than that of


https://dl.doubtnut.com/l/_URBMlkxPkv3i
https://dl.doubtnut.com/l/_XqXxCNhLp5sX
https://dl.doubtnut.com/l/_KB3Tu6GHk4RF

Answer: A

o Watch Video Solution

72. Dobereiner traids is

A.Na, K, Rb

B. Mg, S, As

C.Cl, Br, |


https://dl.doubtnut.com/l/_KB3Tu6GHk4RF
https://dl.doubtnut.com/l/_KBvhBxWzR9FB

D.PR,S, As

Answer: C

o Watch Video Solution

73.The screening effect of d-electron is

A. Equal to that of p-electrons

B. More than that of p-electrons

C. Same as f-electrons

D. Less than p-electrons

Answer: D

[ o war_ao_L vl e~_ ..


https://dl.doubtnut.com/l/_KBvhBxWzR9FB
https://dl.doubtnut.com/l/_j8WJTFu4pkiu

L vvallil viuco o0IuLivll

74.Hydrogen can be put in halogen group because:

A. It has deuterium and tritium as isotopes

B. It forms hydrides like chlorides

C. It contains one electron only

D. It is light

Answer: B

o Watch Video Solution

75. Which of the following element is metalloid


https://dl.doubtnut.com/l/_j8WJTFu4pkiu
https://dl.doubtnut.com/l/_jV9bI177lYn8
https://dl.doubtnut.com/l/_tLoxTNOzzyIB

A. Bi

B. Sn

C.Ge

D.C

Answer: C

o Watch Video Solution

76. Highest density will be of this element

A lt

B. Os

C.Pb


https://dl.doubtnut.com/l/_tLoxTNOzzyIB
https://dl.doubtnut.com/l/_73i4D4ocYKCA

D. Hg

Answer: B

° Watch Video Solution

77. Under normal condition which of the following

electronic configuration is able to form dipositive ion
A. [Ar]4s’
B. [Ne]2s%3p°
C. [Ne]3s”

D. None of these

Answer: C


https://dl.doubtnut.com/l/_73i4D4ocYKCA
https://dl.doubtnut.com/l/_phUykMNluqgH

° Watch Video Solution

78. Group comprising all metals is

A. llIA

B. IVA

C.VIIA

D. lIA

Answer: D

o Watch Video Solution

79. Astatine is :


https://dl.doubtnut.com/l/_phUykMNluqgH
https://dl.doubtnut.com/l/_5q3pnadMOfRB
https://dl.doubtnut.com/l/_01pLrEADIV3x

A. Halogen

B. Rare earth element

C. Alkaline earth metal

D. None of these

Answer: A

o Watch Video Solution

80. According to periodic law of elements, the variation

in properties of elements is related to their:

A. Atomic masses

B. Nuclear masses


https://dl.doubtnut.com/l/_01pLrEADIV3x
https://dl.doubtnut.com/l/_JajQeaCJZEN2

C. Atomic numbers

D. Nuclear neutron-proton number

Answer: C

o Watch Video Solution

81. The following statements regarding the periodic
trends of chemical reactivity of the alkali metals and the
halogens are given. Which of these statement gives the

correct picture:

A.The reactivity decreases in the alkali metals but

increases in the halogens with increase in atomic


https://dl.doubtnut.com/l/_JajQeaCJZEN2
https://dl.doubtnut.com/l/_pvDwDr0T07Sj

number down the group

B.In both alkali metals and the halogens the

chemical reactivity decreases with increase in

atomic number down the group

C.Chemical reactivity increase with increase in

atomic number down the group in both the alkali

metals and halogens

D. In alkali metals the reactivity increases but in the

halogens it decreases with increase in atomic

number down the group

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pvDwDr0T07Sj

82. The electronic configuration of the element which is
just above the element with atomic number 43 in the
same periodic group is

A. 15°25%2p°35%3p%3d°4s”

B. 15225%2p°3523p°3d 0 45%4p°

C. 1522522p%3523p%3d545?

D. 15%2522p°3523p°3d 1451 4"

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pvDwDr0T07Sj
https://dl.doubtnut.com/l/_R8ewkE80FsXi

83. Which one of the following belongs to representative

group of elements in the periodic table?

A. Lanthanum

B. Argon

C. Chromium

D. Aluminium

Answer: D

o Watch Video Solution

84. An element with atomic number 21is a


https://dl.doubtnut.com/l/_k21aro3zf4Sn
https://dl.doubtnut.com/l/_GWTPIlyBeQXW

A. Transition elements

B. Alkali metal

C. Halogen

D. Representative element

Answer: A

o Watch Video Solution

85. Which one of the following is a 'd-block element' ?

A. Gd

B. Hs

C.Es


https://dl.doubtnut.com/l/_GWTPIlyBeQXW
https://dl.doubtnut.com/l/_b0qKessOvkmk

D.Cs

Answer: B

° Watch Video Solution

86. Properties of elements are periodic function of

number of present in the nucleus

A. Protons

B. Electrons

C. Neutrons

D. Mesons

Answer: A


https://dl.doubtnut.com/l/_b0qKessOvkmk
https://dl.doubtnut.com/l/_FiIsZv5t1QR2

° View Text Solution

87. Whose name is not associated with the development

of Periodic Table

A. Prout's

B. Newlands

C. Rutherford

D. Loother Meyer

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FiIsZv5t1QR2
https://dl.doubtnut.com/l/_KTiZBRZRvsUF

88. The element with atomic number 36 belongs to ..

Block in the periodic table

A.p

C.f

D.d

Answer: A

o Watch Video Solution

89. All the s - block elements of the periodic table and

placed in the groups


https://dl.doubtnut.com/l/_VsW3EtsQoGLM
https://dl.doubtnut.com/l/_TPwuVQ7HutPI

A.IA and IIA

B. IlIA and IVA

C. B sub groups

D.VAto VIIA

Answer: A

o Watch Video Solution

90. Which set has the same number of unpaired

electrons in their ground state?

A.Cl~,Fe3t Cr3t

B.Na™, Mg>", Al


https://dl.doubtnut.com/l/_TPwuVQ7HutPI
https://dl.doubtnut.com/l/_lbJNS0rvpLg8

C. Na, P, Cl

D.N,P,V

Answer: D

o Watch Video Solution

91. The electronic structure (n —1)d' 'ns’~2 is
characteristic of

A. Transition elements

B. Lanthanides

C. Actinides

D. Rare gases


https://dl.doubtnut.com/l/_lbJNS0rvpLg8
https://dl.doubtnut.com/l/_HKLSxWFOvGYS

Answer: A

o Watch Video Solution

92. Coloured salts are formed by

A. Alkali metals

B. Lanthanides

C. Actinides

D. Transition metals

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HKLSxWFOvGYS
https://dl.doubtnut.com/l/_lk12qYsV5o5p
https://dl.doubtnut.com/l/_7swISpeMs0qu

93. The elements in which s and p-orbital are present

A. Common elements

B. Inert gases

C. Halogens

D. Transitional elements

Answer: B

o Watch Video Solution

94. Which of the following statement is not correct for

the element having electronic  configuration

152, 252, 2p%, 3s!


https://dl.doubtnut.com/l/_7swISpeMs0qu
https://dl.doubtnut.com/l/_MhBBgopane6E

A. It is a monovalent electropositive

B. It forms basic oxide

C. It is a non-metal

D. It has low electron affinity

Answer: C

° Watch Video Solution

95. Hydrogen by donating one electron forms H™ . In

this property, it resembles with

A. Transitional metals

B. Alkaline earth metals


https://dl.doubtnut.com/l/_MhBBgopane6E
https://dl.doubtnut.com/l/_DKkqKEWhIDz8

C. Alkali metals

D. Halogens

Answer: C

o Watch Video Solution

96. The element with quantum numbers n=2, [=1, m=1,

s=-1/2 has the following position in the periodic table

A. Group VII-A, period I

B. Group O, period I

C. Group VII-A, period I

D. Group O, period IlI


https://dl.doubtnut.com/l/_DKkqKEWhIDz8
https://dl.doubtnut.com/l/_CiHN3QV4kyTp

Answer: B

o Watch Video Solution

97. The element having the electronic configuration
152, 25%2p%, 3523p' is

A. A transition element

B. Arepresentative element

C. An inert gas

D. An inner-transition element

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CiHN3QV4kyTp
https://dl.doubtnut.com/l/_suBF9cLQPufI

98. Which metal has 2 electrons in the outermost orbit

A. Na

B. Cu

C.Au

D. Be

Answer: D

o Watch Video Solution

99. Of the following pairs, the one containing examples

of metalloid elements in the periodic table is:


https://dl.doubtnut.com/l/_suBF9cLQPufI
https://dl.doubtnut.com/l/_9KZEJdseKxIQ
https://dl.doubtnut.com/l/_aXtGtwFrayR7

A. Sodium and potassium

B. Fluorine and chlorine

C. Calcium and magnesium

D. Ge and silicon

Answer: D

o Watch Video Solution

100. The number of elements in each of the long periods

in the periodic table is

A.2

B.8


https://dl.doubtnut.com/l/_aXtGtwFrayR7
https://dl.doubtnut.com/l/_ICfYD34b85a0

C.18

D. 32

Answer: C

o Watch Video Solution

101. The element or elements whose position is

anomalous the periodic table is

A. Halogens

B. Fe, Co and Ni

C. Inert gases

D. Hydrogen


https://dl.doubtnut.com/l/_ICfYD34b85a0
https://dl.doubtnut.com/l/_IO74m8Z5VHcw

Answer: D

o Watch Video Solution

102. An element M has an atomic mass 19 and atomic

number 9. Its ion is represented by

AMT

B.M ™~

c.M?*t

D. M?~

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IO74m8Z5VHcw
https://dl.doubtnut.com/l/_87I0cBbVgL60

103. Which of the following is a normal element

A. Ce

B. He

C.Li

D. Ar

Answer: C

° Watch Video Solution

104. Cause of diagonal relationship is


https://dl.doubtnut.com/l/_87I0cBbVgL60
https://dl.doubtnut.com/l/_tffS4NikO2T3
https://dl.doubtnut.com/l/_jeyCGNgPKol7

A. Similar electronic configuration of the elements

B. Similar e/r ratio of the elements

C. Same number of valency electrons in the elements

D. Same atomic weights of the elements

Answer: B

o Watch Video Solution

105. For a p - block element, its 3d, 3s, 3p and 4s orbitals
are completely filled and the differentiating electron
goes to the 4p orbital. The element should have its

atomic number in the range


https://dl.doubtnut.com/l/_jeyCGNgPKol7
https://dl.doubtnut.com/l/_S61ISQVX3M1I

A.13-18

B. 21-26

C.31-36

D. 49-54

Answer: C

o Watch Video Solution

106. Assertion : Noble gases have maximum electron
affinity.
Reason : High electron affinity shows that the electron is

loosely bonded to the atom.


https://dl.doubtnut.com/l/_S61ISQVX3M1I
https://dl.doubtnut.com/l/_KO1E6vK4YEdn

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C.If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

o Watch Video Solution

107. Assertion : Atomic number of the element ununbium

is 112.


https://dl.doubtnut.com/l/_KO1E6vK4YEdn
https://dl.doubtnut.com/l/_1qoLW5xTamdl

Reason : Name for digits 1 and 2 is un-and bi-respectively

in latin words.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C.If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1qoLW5xTamdl

108. Assertion (A): Chemistry of Actinoids is more

complicated than Lanthanoids

Assertion (R): Actionid elements are radio active

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_io4qazDl82OK

109. Assertion: Shielding effect increases as we go down
the group.
Reason: More is the number of electrons in the
penultimate shell, more is shielding.
A.If both assertion and reason are true and the
reason is the correct explanation of the assertion
B. If both assertion and reason are true but reason is
not a correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

I o Wiakt~hh \NtAdar CAlLiikiAan



https://dl.doubtnut.com/l/_hfP2od969ycB
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Ordinary Thinking Objective Questions Atomic And lonic

Radii

1. Elements of which of the following groups will form

anions most readily ?

A. Oxygen family

B. Nitrogen group

C. Halogens

D. Alkali metals

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_hfP2od969ycB
https://dl.doubtnut.com/l/_naf4qtUm9pvA

2. Which of the following statement concerning

lanthanides elements is false.

A. Lanthanides are separated from one another by

ion exchange method

B.lonic radii of trivalent lanthanides steadily

increases with increase in the atomic number

C. All lanthanides are highly dense metals

D. More characteristic oxidation state of lanthanide

elements is +3

Answer: B

| o |


https://dl.doubtnut.com/l/_naf4qtUm9pvA
https://dl.doubtnut.com/l/_IlxnxQGZGFxm

[ & Watch Video Solution

3. Which of the following is largest

A.Cl™

B.S?~

C.Na™

D.F~

Answer: B

o Watch Video Solution

4. Which of the following has the smallest size?


https://dl.doubtnut.com/l/_IlxnxQGZGFxm
https://dl.doubtnut.com/l/_Ifk06EiJ5p11
https://dl.doubtnut.com/l/_zRRSiOSPNwpn

A.Na™
B. Mg ™2
C.Cl™

D.F~

Answer: B

o Watch Video Solution

5. Which one is the correct order of the size of the iodine

species?

Al>1T >1"

B.I>1 >1"


https://dl.doubtnut.com/l/_zRRSiOSPNwpn
https://dl.doubtnut.com/l/_dNpGSKMJ7MBH

Clt >1" >1

D.l- >1>1"

Answer: D

o Watch Video Solution

6. Which of the following does not represent the correct

order of the property indicated?

A SSET > ordt > Fe3t > Mn®™ :ionic radii

B.Sc < Tt < Cr < Mn : Density

C.Mn?T > Ni?t < Co®T < Fe?t :ionicradii

D. FeO < CaO > MnO > CuO : Basic nature


https://dl.doubtnut.com/l/_dNpGSKMJ7MBH
https://dl.doubtnut.com/l/_NWwRa3v3zEo6

Answer: A

° Watch Video Solution

7. lonic radii are

A. Directly proportional to effective nuclear charge

B. Directly proportional to square of effective nuclear

charge

C. Inversely proportional to effective nuclear charge

D. Inversely proportional to square of effective

nuclear charge

Answer: C


https://dl.doubtnut.com/l/_NWwRa3v3zEo6
https://dl.doubtnut.com/l/_cngAqBZS6tkY

° Watch Video Solution

8. Identify the correct order of the size of the following

ACa®’t < Kt < Ar< §?~ < Cl™
B.Ca’" < KT < Ar < Cl™ < 8%~
CAr < Ca’T < KT <l < §*~

D.Ca’" < Ar < Kt < Cl- < 8%

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cngAqBZS6tkY
https://dl.doubtnut.com/l/_UIj9sG5PlZtm

9. Among the following Ca ,Mg, P and Cl the order of

increasing atomic radius is

AMg<Ca<Cl<P

B.Cl < P < Mg < Ca

C.P<Cl<(Ca< Mg

D.Ca < Mg < P < Cl

Answer: B

o Watch Video Solution

10. Among the following which has the highest cation to

anion size ratio ?


https://dl.doubtnut.com/l/_lpqX8s6neVFX
https://dl.doubtnut.com/l/_B1KCqbs8LMIm

A. Csl

B. CsF

C. LiF

D. NaF

Answer: B

° Watch Video Solution

1. Identify the wrong statement in the following ?

A. Amongst isoelectronic species, smaller the positive

charge on the cation, smaller is the ionic radius


https://dl.doubtnut.com/l/_B1KCqbs8LMIm
https://dl.doubtnut.com/l/_cadYP9ukjLhz

B. Amongst isoelectronic species, greater the
negative charge on the anion, larger is the ionic
radius

C. Atomic radius of the elements increases as one
moves down the first group of the periodic table

D. Atomic radius of the elements decreases as one
moves across from left to right in the ond period of

the periodic table

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cadYP9ukjLhz

12. Which of the following orders of
correctly represented?
AF~ >0 > Na"
B. A’ > Mg*" > Na®~
CH>H" >H"

D.Na® > F~ > 0%~

Answer: C

ionic radii

o Watch Video Solution

13. Which has the maximum atomic radius?


https://dl.doubtnut.com/l/_KDu63FyAS5vY
https://dl.doubtnut.com/l/_M77hTac7U4iN

A Al

B. Si

C.P

D. Mg

Answer: D

o Watch Video Solution

14.The radii of F, F —, O and O "2 are in the order of

AO> >F  >0>F
B.O’ " >F~ >F>0

CF~ >0 >F>0


https://dl.doubtnut.com/l/_M77hTac7U4iN
https://dl.doubtnut.com/l/_pjiTeG1GHExp

DO’ >O>F > F

Answer: A

o Watch Video Solution

15. Which of the following ion is the smallest ion is the
smallest ion?

A.O5

B.O,

C. O,

D. O, *

Answer: A


https://dl.doubtnut.com/l/_pjiTeG1GHExp
https://dl.doubtnut.com/l/_HUlm9UqIi7m3

° Watch Video Solution

16. Of the following, the one with largest size is

A.Cl™

B. Ar

D.Ca?t

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HUlm9UqIi7m3
https://dl.doubtnut.com/l/_S65iz2fGDob2

17. Which of the following is the correct order of ionic

radii

AF >1Li>Na>K

B.F > K > Na > Lz

C.Na>K>F > Li

D.Li > Na > K > F

Answer: B

o View Text Solution

18. Which of the following has the largest ionic raduis?



https://dl.doubtnut.com/l/_CwpKPWocf8ya
https://dl.doubtnut.com/l/_vImjtAHpOUgt

A. Na™
B.Ni*
C.Cs™t

D. Mg ™2

Answer: C

o Watch Video Solution

19. The ionic radii (A°)of C~* and O~ ? are 2,60 and
1.40 respectively .The ionic radius of the isoelectronic ion

N ~3 would be

A .26


https://dl.doubtnut.com/l/_vImjtAHpOUgt
https://dl.doubtnut.com/l/_nQyeiKemCvPP

B. 1.71

C.14

D. 0.95

Answer: B

° Watch Video Solution

20.In a period, elements are arranged in strict sequence
of

A. Decreasing charges in the nucleus

B. Increasing charges in the nucleus

C. Constant charges in the nucleus


https://dl.doubtnut.com/l/_nQyeiKemCvPP
https://dl.doubtnut.com/l/_dGddd888v0QM

D. Equal charges in the nucleus

Answer: B

o Watch Video Solution

21. Arrange the following in increasing order of their

atomic radius: Na, K, Mg, Rb

A Mg < K < Na < Rb

B.Mg < Na < K < Rb

C.Mg< Na < Rb< K

D. Na < K < Rb < Mg

Answer: B


https://dl.doubtnut.com/l/_dGddd888v0QM
https://dl.doubtnut.com/l/_hr4nEcZA8PMz

° Watch Video Solution

22. The correct order of increasing radii of the ions
Br—,F~,0° and S is as follows

ABr- <F <0 <§°

B.S*” <0’ <F~ < Br~

CF <0* <8 <Br

DF~ < Br~ <0?> < §*~

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hr4nEcZA8PMz
https://dl.doubtnut.com/l/_D2weFBZjECFq

23. In the isoelectronic species the ionic radii of
N3~ ,0% , F~ arerespectively given by
A.1,36,140,1.71
B.1.36,1.71, 140
C.1.71,1.40,1.36

D.1.71,1.36,1.40

Answer: C

o Watch Video Solution

24. Which of the ions in the table below would have the

largest value of enthalpy of hydration?


https://dl.doubtnut.com/l/_HYJ82HsCr9Bn
https://dl.doubtnut.com/l/_5rz1Llnxd5Fw

lonic radius in nm Charge of ion

Ionic radius in nm Charge of ion

A.
(a) 0.0065 +2
8 Ionic radius innm Charge of ion
" (b) 0.095 +1
c Ionic radius innm Charge of ion
" (c) 0.135 +2
5 Ionic radius in nm Charge of ion
" (d) 0.169 +1
Answer: A

o Watch Video Solution

25. Which of the following alkali metal ions has the

lowest ionic mobility in aqueous solutions?

A Rb™


https://dl.doubtnut.com/l/_5rz1Llnxd5Fw
https://dl.doubtnut.com/l/_JGwLpSj1nKy5

B.Cs™

C.Li"

D. Na™

Answer: C

° Watch Video Solution

26. Which one of the following indicates the correct

order of atomic size

A.Be > F > C > Ne

B.Be < C < F < Ne

C.Be >C > F > Ne


https://dl.doubtnut.com/l/_JGwLpSj1nKy5
https://dl.doubtnut.com/l/_DR4ZEdOO6xAS

D.FF < Ne < Be < C

Answer: C

° Watch Video Solution

27. AI*" has low ionic radius than Mg®" because

A. Mg atom has less number of neutrons than Al
B. AI*" has a higher nuclear charge than Mg**
C. Their electronegative are different

D. Al has a lower ionisation potential than Mg atom

Answer: B

[ ° war_ao_L vl e~_ .. _


https://dl.doubtnut.com/l/_DR4ZEdOO6xAS
https://dl.doubtnut.com/l/_JpAEhAtpxNzX
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28. Which one of the following ions has the highest

value of ionic radius?

A O*

B. BT

C.Li"

D.F~

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JpAEhAtpxNzX
https://dl.doubtnut.com/l/_GdD8srzTOHrI

29. Which of the following sets will have highest

hydration energy and highest ionic radii

A.Na and Li

B. Li and Rb

C.Kand Na

D.Cs and Na

Answer: B

o Watch Video Solution

30. Which of the following is the correct increasing order

of the ionic radii


https://dl.doubtnut.com/l/_TAf3xqwuCiFB
https://dl.doubtnut.com/l/_vid77nXYCbln

AL"T < M@ <K™ < AP
B.APT < Li™ < Mg*"™ < K™
CAPT <« M¢*t < K+ < Li™

DKV < APT < Mg*" < Li*

Answer: C

o View Text Solution

31.In third row of periodic table the atomic radii from Na

and Cl

A. Continuosly decreases

B. Continuosly increases


https://dl.doubtnut.com/l/_vid77nXYCbln
https://dl.doubtnut.com/l/_ghNKZMz05Rza

C. Remains constant

D. Increases but not continuously

Answer: A

o Watch Video Solution

32. An element of atom mass 39 has the electron
configuration 2,8,8,1 which of the following statements
are correct ? a)it is transition element b)its isotone is
38 Ar o)its isotone oxide is M,O d)its first ionisation

value is high

A. The element's valency is 7

B. The element exists as a diatomic molecule


https://dl.doubtnut.com/l/_ghNKZMz05Rza
https://dl.doubtnut.com/l/_pqtaQzB7z7Ko

C. The element is of non-metallic nature

D. The element forms a basic oxide

Answer: D

o Watch Video Solution

33. Which of the following has largest size

A Al

B.Al™"

C. Al T2

D. Al 3


https://dl.doubtnut.com/l/_pqtaQzB7z7Ko
https://dl.doubtnut.com/l/_hj5waEPgGJtX

Answer: A

o Watch Video Solution

34. The order of magnitude of ionic radii of ions
Na™, Mh**, A3 and Si* ™" is

A Na® < Mg*>" < AP < 8t

B. Mg®>"t > Na™ > ABT > §itt

C.APT > Na™ > Si*T > Mg*™

D.Na©™ > Mg®>" > AP > S

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hj5waEPgGJtX
https://dl.doubtnut.com/l/_BsujZk7RZtCC

35. Point out the wrong statement

In a given period of the periodic table the s-block

element has, in general, a lower value of

A. lonisation energy

B. Electronegativity

C. Atomic radius

D. Electron affinity

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BsujZk7RZtCC
https://dl.doubtnut.com/l/_QYlkBn1IbXkj

36. Which of the following is the biggest ion?

A AlTS
B. Ba 2
C. MgJr2

D. Na™

Answer: B

o Watch Video Solution

37. Which of the following set of elements has the

strongest tendency to form anions?


https://dl.doubtnut.com/l/_j8vyd8fCoLcg
https://dl.doubtnut.com/l/_jiZGUlkaH98W

A.N,OF

B.P,S,Cl

C. As, Se, Br

D. Sb, Te, |

Answer: A

o Watch Video Solution

38. In which of the following pairs, the difference

between the convalent radii of the two metals is

maximum.

A. K, Ca


https://dl.doubtnut.com/l/_jiZGUlkaH98W
https://dl.doubtnut.com/l/_TUASkXRZXHmN

B. Mn, Fe

C. Co, Ni

D. Cr, Mn

Answer: A

° Watch Video Solution

39. The atomic radii in periodic table among elements

from right to left

A. Decreases

B. Increases

C. Remain constant


https://dl.doubtnut.com/l/_TUASkXRZXHmN
https://dl.doubtnut.com/l/_IEpTGnKL4T2m

D. First decreases and then increases

Answer: B

o Watch Video Solution

40. Of the following the ion with the smallest ionic

radius is

AKT

B.Ca’t

C.Ti3+

D. T34

Answer: D


https://dl.doubtnut.com/l/_IEpTGnKL4T2m
https://dl.doubtnut.com/l/_wooNxV8CP8Vl

° Watch Video Solution

41. The atomic radius of elements of which of the

following series would be nearly the same

A.Na KRb Cs

B.LiBeBC

C.Fe Co Ni Cu

D.F Cl Br |

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wooNxV8CP8Vl
https://dl.doubtnut.com/l/_iqYUTc18wPIv

42. Which one of the following should be most stable

A H,
B.H™T
C.H

D.H "™

Answer: D

o Watch Video Solution

43.The trivalent ion having size in lanthanide series is

ATi


https://dl.doubtnut.com/l/_qdVqky6hSW0a
https://dl.doubtnut.com/l/_4McRUs3eu6Vo

B.Zr

C. Hf

D. La

Answer: D

o Watch Video Solution

44, Chloride ion and potassium ion are isoelectronic.

Then

A. Potassium ion is relatively bigger

B. Depends on the other cation and anion

C. Their size are same


https://dl.doubtnut.com/l/_4McRUs3eu6Vo
https://dl.doubtnut.com/l/_WuWyAnSce5e4

D. Chloride ion is bigger than potassium ion

Answer: D

o Watch Video Solution

45.The correct enegry value order is

A.ns np nd(n-1) f

B. ns np(n-1)d(n-2)f

C. ns np(n-1)d(n-1)f

D. ns(n-1)d n(n-1)f

Answer: B

[ o war_ao_L vl e~_ ..


https://dl.doubtnut.com/l/_WuWyAnSce5e4
https://dl.doubtnut.com/l/_IDrFnjQkJdCy

L vvallil viuco o0IuLivll ) |

46. The ionic conductance of the following cations in a

given concentration is in the order

ALit <Na™ >K'" <Rb"

B.Li" > Na™ >K* > Rb"

C.Lit <Nat >K*' > Rb"

D.Lit = Na™ <K' < Rb™

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IDrFnjQkJdCy
https://dl.doubtnut.com/l/_j1ZOX6LRn0dK

47. Which of the following has the largest size?

A S%-

B. Se?~

C.0*"

D.Te?™

Answer: D

o Watch Video Solution

48. Difference between S and S?~ as S?2~ has

A. Larger radii and larger size


https://dl.doubtnut.com/l/_DR4lrQ6OTDkf
https://dl.doubtnut.com/l/_BFxZ5VL4FWyP

B. Smaller radii and larger size

C. Larger radii and small size

D. Smaller radii and small size

Answer: A

° Watch Video Solution

49. Increase in atomic size down the group is due to

A. Increase in number of ORBIT

B. Increase in number of protons and neutrons

C. Increase in number of protons


https://dl.doubtnut.com/l/_BFxZ5VL4FWyP
https://dl.doubtnut.com/l/_DqzovKlZsmR7

D.Increase in number of protons, neutrons and

electrons

Answer: A

° Watch Video Solution

50. In the main group elements

(i) as we proceed down the same group in the periodic
table and

(ii) as we proceed from left to right in the same period,

the atomic radius

A. (i) Increase  continuously, (i) Decreases

continuously


https://dl.doubtnut.com/l/_DqzovKlZsmR7
https://dl.doubtnut.com/l/_8HaUaFNdK3SX

B.(i) Decreases continuously, (ii) Increases

continuously

C. (i) Increases continuously, (ii) Decreases upto the

group IV and then increases upto the end of the

period

D. (i) Decreases continuously, (ii) Decreases upto the

group IV and then increases upto the end of the

period

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8HaUaFNdK3SX

51. Point out the wrong statement

On moving horizontally from left to right across a period

in the periodic table

A. Metallic character decreases

B. Electronegativity increases

C.Gram atomic volume first decreases and then

increases

D. Size of the atoms increases for normal elements

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CEtPztG6nitl

52. Which statement is correct

A. For potassium, the atomic radius < ionic radius,

but for bromine, the atomic radius > ionic radius

B. For potassium and bromine both, the atomic radii

> ionic radii

C. For potassium and bromine both, the atomic radii

< ionic radii

D. For potassium, the atomic radius > ionic radius

but for bromine, the atomic radius < ionic radius

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JKmnQ67iRctG

53. Assertion : Positive ions will be wider than parent

atoms.

Reason : Nuclear charge pulls them closer.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

[ o Watch Video Solution


https://dl.doubtnut.com/l/_JKmnQ67iRctG
https://dl.doubtnut.com/l/_puOuAUIBloi6

54. Assertion: The atomic radii of calcium is smaller than

sodium

Reason: Calcuim has a lower nuclear charge than

sodium.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false


https://dl.doubtnut.com/l/_puOuAUIBloi6
https://dl.doubtnut.com/l/_zTS25KMjLsFO

Answer: C

o Watch Video Solution

55. The correct order of atomic radii in group 13

elements is

AB< Al < In < Ga < Tl

B.B< Al<Ga<In<TI

CB<Ga<Al<Tl< In

DB< Ga< Al < In < Tl

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zTS25KMjLsFO
https://dl.doubtnut.com/l/_DmtRanXbCJH0

Ordinary Thinking Objective Questions lonisation Energy

1. The first ionisation potentials (eV) of Be and B

respectively are

A. 8.29eV, 9.32eV

B.9.32eV, 9.32eV

C. 8.29eV, 8.29¢eV

D. 9.32eV, 8.29eV

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DmtRanXbCJH0
https://dl.doubtnut.com/l/_9phg7ecystSJ
https://dl.doubtnut.com/l/_fPmlBSmUFrwb

2. Which of the following order of ionisation energy is

correct?

AABe >B>C>N >0

BB<Be<(C<O<N

CBe<B<(C<N<O

DDB<Be< N<(C<O

Answer: C

° Watch Video Solution

3. Which of the following order is wrong-


https://dl.doubtnut.com/l/_fPmlBSmUFrwb
https://dl.doubtnut.com/l/_dfGxn7BTdwp6

A.NH; < PH; < AsH; -acidic nature
B.Li" < Na™ < KT < Cs™-ionicradius
C. Al203 < MgO < NCI,QO < K2O-basic

D.Li < Be < B < C < 1* jonisation potential

Answer: D

o Watch Video Solution

4. Which of the following electrons configruations of an

atom has the lowest ionisaytion enthalpy ?

A. 1322322195

B. 1322322p3


https://dl.doubtnut.com/l/_dfGxn7BTdwp6
https://dl.doubtnut.com/l/_V1hQb19jEISE

C. 1822822195331

D. 1s%2522p°

Answer: C

o Watch Video Solution

5. Which has the highest second ionisation potenitial?

A. Nitrogen

B. Carbon

C. Oxgyen

D. Fluorine


https://dl.doubtnut.com/l/_V1hQb19jEISE
https://dl.doubtnut.com/l/_Kcrh4JkwFxho

Answer: C

o Watch Video Solution

6. Which of the following transitions involves maximum
amount of energy?

A.-M"~(g) = M(g)

B.M(g) - M ™ (g)

C.M™"(g) — M**(g)

D.M**(g) = M*>*(g)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Kcrh4JkwFxho
https://dl.doubtnut.com/l/_BREJEcFzd238

7. Hydrogen has high ionization energy than alkali

metals, due to its:

A. Large size

B. Small size

C. lonic bond

D. Covalent bond

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BREJEcFzd238
https://dl.doubtnut.com/l/_YShHrgXN4NlJ

8. Which of the following gaseous atoms has highest

value of IE?

AP

B. Si

C. Mg

D. Al

Answer: A

o Watch Video Solution

9. Among the following options , the sequence of

increasing first ionisation potential will be


https://dl.doubtnut.com/l/_o3VsRbMRdG0I
https://dl.doubtnut.com/l/_WHEsrBYsarIs

AB<(C<N

B.B>C>N

CC<B<N

DN >C > B

Answer: A

o Watch Video Solution

10. Which of the following element has maximum, first

ionisation potential?

AV

B.Ti


https://dl.doubtnut.com/l/_WHEsrBYsarIs
https://dl.doubtnut.com/l/_yOeswASrKapr

C.Cr

D. Mn

Answer: D

o Watch Video Solution

11. Spectrum of Li*™ is similar to that of

A.H
B. He
C.Be

D. Ne


https://dl.doubtnut.com/l/_yOeswASrKapr
https://dl.doubtnut.com/l/_Ux3VGhK3zy6L

Answer: A

o Watch Video Solution

12. The correct order of reactivity of halogens is

AAF >Cl>Br>1

B.EF <C(Cl>Br<lI

CF<Cl<Br<lI

DEF<C(Cl< Br >1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ux3VGhK3zy6L
https://dl.doubtnut.com/l/_p2sk0cMwmjmL
https://dl.doubtnut.com/l/_Xzexu18i46a4

13. Correct order of polarising power is

ACst < KT < Mg*>" < APT
BK™ < Cs™ < Mg>" < AP
COsT < K" < APT < Mg*™"

DEKT < Cs™ < APT < Mg*™"

Answer: A

o Watch Video Solution

14. Which of the following has the highest first

ionisation energy?


https://dl.doubtnut.com/l/_Xzexu18i46a4
https://dl.doubtnut.com/l/_OJstNl5JLcCF

A. Li

B. Be

C.B

D.C

Answer: D

o Watch Video Solution

15. The ionisation energy of nitrogen is more than that

of oxygen because

A. Greater attraction of electrons by the nucleus

B. The size of nitrogen atom being smaller


https://dl.doubtnut.com/l/_OJstNl5JLcCF
https://dl.doubtnut.com/l/_VvCNO1VW787K

C. The half-filled p-orbitals possess extra stability

D. Greater penetration effect

Answer: C

o Watch Video Solution

16.In a period from Li to F, ionisation potential

A. Increases

B. Decreases

C. Remain same

D. Cannot be pridicted


https://dl.doubtnut.com/l/_VvCNO1VW787K
https://dl.doubtnut.com/l/_28NaVAHBBvhG

Answer: D

o Watch Video Solution

17. which of the following has the least ionisation

potential?

A. Li

B. Cs

c.cl

D. |

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_28NaVAHBBvhG
https://dl.doubtnut.com/l/_sCHeIP7ni0Fx

18. The ionisation potential is lowest for the

A. Halogens

B. Inert gases

C. Alkaline earth metals

D. Alkali metals

Answer: D

o Watch Video Solution

19. The ionisation potential of hydrogen from ground

state to the first excited state is


https://dl.doubtnut.com/l/_sCHeIP7ni0Fx
https://dl.doubtnut.com/l/_kCBxXsbMYtsA
https://dl.doubtnut.com/l/_xU2sjl08E0Y2

A. —13.6eV

B.13.6 eV

C.—3.4eV

D.34 eV

Answer: B

o Watch Video Solution

20. First LP. of Mg is ............ than that of Al

A. Less

B. More

C. Equal


https://dl.doubtnut.com/l/_xU2sjl08E0Y2
https://dl.doubtnut.com/l/_Gvidt420rD2W

D. None of these

Answer: B

o Watch Video Solution

21. Which one of the following relations is correct with
respect to first (I) and second (Il) ionization potentials of
sodium and Magnesium?

A Iy, = Iy,

B. Ing > Ingg

C.IIyg > Iy,

D. 11y, > IIMg


https://dl.doubtnut.com/l/_Gvidt420rD2W
https://dl.doubtnut.com/l/_BQeke4eljv7N

Answer: D

o Watch Video Solution

22.The first ionisation potential will be maximum for

A. Lithium

B. Hydrogen

C. Uranium

D. Iron

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BQeke4eljv7N
https://dl.doubtnut.com/l/_v20LgoVHBjpQ
https://dl.doubtnut.com/l/_GBFxyoHioRCP

23. Fluorine is the best oxidising agent because it has

A. Highest electron affinity
B. Highest E° |
C.Highest E° .,

D. Lowest electron affinity

Answer: B

o Watch Video Solution

24. Which among the following elements have the lowest

value of I F;?


https://dl.doubtnut.com/l/_GBFxyoHioRCP
https://dl.doubtnut.com/l/_9rJMQCX3b616

A.Pb

B. Sn

C.Si

D.C

Answer: B

o Watch Video Solution

25. lonistion energy is highest for

A. Noble gases

B. Platinum metals

C. Transition elements


https://dl.doubtnut.com/l/_9rJMQCX3b616
https://dl.doubtnut.com/l/_NgARZGARFfVr

D. Inner-transition elements

Answer: A

o Watch Video Solution

26. The increasing order of the first ionisation enthalpies

of the elements B, P, S and F’ (lowest first) is:

AF<S<P<B

BP<S<B<UF

CB<P<S<VF

DDB<S<P<F

Answer: D


https://dl.doubtnut.com/l/_NgARZGARFfVr
https://dl.doubtnut.com/l/_cnHTGEs3lHU5

° Watch Video Solution

27.1n a given shell, the order of screeing effect is

As>p>d>f

B.f >d>p>s

Cp<d<s<f

D. dgtfitsgtp’

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cnHTGEs3lHU5
https://dl.doubtnut.com/l/_6JRuo064a0QV

28. The successive ionzation enegry values for an
element X are given below:

(i) 1st ionization enegry = 410kJmol ~!

(i) 2nd ionization energy = 820kJmol ~*

(iii) 3rd ionization enegry = 1100k Jmol ~!

(iv) 4th ionization enegry = 1500k Jmol ~!

(v) 5th ionization enegry = 3200kJmol !

Find out the number of valence electrons for the atom

X.
A4
B.3

C.5

D.?2


https://dl.doubtnut.com/l/_Rjo3hZBoczii

Answer: A

o Watch Video Solution

29. Among the following transition elements, pick out
the element/elements with highest second ionization
energy

(a) V(At. No. 23) (v) Cr(At. No. 24)

(c) Mn(At. No. =25) (d) Cu (At. No. =29)

(e) Zn(At. No.=30)

A. (A) and (C)

B. (B) and (D)

C.(B) and (E)


https://dl.doubtnut.com/l/_Rjo3hZBoczii
https://dl.doubtnut.com/l/_H1odBFy0ppH6

D. Only (D)

Answer: B

o Watch Video Solution

30. The first ionzation enegry of oxygen is less than that

of nitrogen. Which of the following is the correct reason

for this observation?

A. Lesser effective nuclear charge of oxygen than

nitrogen

B. Lesser atomic size of oxygen than nitrogen


https://dl.doubtnut.com/l/_H1odBFy0ppH6
https://dl.doubtnut.com/l/_cjXaNT1uBBr0

C. Greater inter-electron repulsion between two

electrons in the same p orbital counter balances

the increase in effective nuclear charge on moving

from nitrogen to oxygen

D. Greater effective nuclear charge of oxygen than

nitrogen

Answer: C

o Watch Video Solution

31. The correct decreasing order of first ionisation

enthalpies of five elements of second period is


https://dl.doubtnut.com/l/_cjXaNT1uBBr0
https://dl.doubtnut.com/l/_f6a2gqyG2xF9

AABe >B>C>N > F

BN >F >C > B > Be

CF>N>C>Be>B

DN >F > B > C > Be

Answer: C

o Watch Video Solution

32. Among the following, the third ionisation energy is

highest for

A. Magnesium

B. Boron


https://dl.doubtnut.com/l/_f6a2gqyG2xF9
https://dl.doubtnut.com/l/_mtBAnYftWdNI

C. Beryllium

D. Aluminium

Answer: C

o Watch Video Solution

33. The decreasing order of the first ionization energy (in
k] mol 1) of He, Mg and Na is He > Mg > Na. The
increasing order of the 2™ jonization energy (in k

mol ~ 1) of these elements will be

A.Na < Mg < He

B. Mg < Na < He


https://dl.doubtnut.com/l/_mtBAnYftWdNI
https://dl.doubtnut.com/l/_GVcmA0lx9W0e

C.Mg < He < Na

D. Na < He < Mg

Answer: B

o Watch Video Solution

34. The screening effect of inner electrons of an atom

can cause

A. A decrease in the ionisation potential

B. An increase in the ionisation potential

C. No effect on the ionisation potential


https://dl.doubtnut.com/l/_GVcmA0lx9W0e
https://dl.doubtnut.com/l/_FDldWADI9dl9

D. An increase in the attraction of the nucleus to the

electrons

Answer: A

o Watch Video Solution

35. The first ionization energies of alkaline earth metal

are higher than those of the alkali metals. This is

because:

A.There is increase in the nuclear charge of the

alkaline earth metals


https://dl.doubtnut.com/l/_FDldWADI9dl9
https://dl.doubtnut.com/l/_MN8x41EGOBtS

B. There is a decrease in the nuclear charge of the
alkaline earth metals
C.There is no change in the nuclear charge

D. None of the above

Answer: A

° Watch Video Solution

36. Highest energy will be absorbed to eject out the

electron in the configuration

A. 1322322171

B. 1s"(2)2s"(2)2p"(3)


https://dl.doubtnut.com/l/_MN8x41EGOBtS
https://dl.doubtnut.com/l/_CcMnPWFngW1m

C. 1822822]92

D. 1322322194

Answer: B

o Watch Video Solution

37. In which of the following process highest energy is

absorbed?

A.Cu— Cu™

B.Br — Br~

C.I— 1

D.Li — Lit


https://dl.doubtnut.com/l/_CcMnPWFngW1m
https://dl.doubtnut.com/l/_biRi6TzIrKms

Answer: A

° Watch Video Solution

38. The formation of the oxide ion 02( 9) requires first an

exothermic and then an endothermic step as shown
below.

_ _ o -1
O te = O(g)AH = — 142kJmol

O, te = O’ AH®° = 844kJmol~ '  This s

(9)
because of :
A. O~ ion will tend to resist the addition of another

electron

B. Oxgyen has high electron affinity


https://dl.doubtnut.com/l/_biRi6TzIrKms
https://dl.doubtnut.com/l/_87mNP6YU5Cf3

C. Oxygen is more electronegative

D. O~ ion has comparatively larger size than oxygen

atom

Answer: A

° Watch Video Solution

39. With reference to ionisation potential which one of

the following sets is correct?

ALi > K > Cs

B.B>U>K

C.Cs>U>B


https://dl.doubtnut.com/l/_87mNP6YU5Cf3
https://dl.doubtnut.com/l/_JlZfSXpUAIIV

D.Cs < U< K

Answer: A

o Watch Video Solution

40. Which of the element is expected to have lowest first

ionisation enthalpy

A. Sr

B. As

C. Xe

D.S

Answer: A


https://dl.doubtnut.com/l/_JlZfSXpUAIIV
https://dl.doubtnut.com/l/_2yZ7KZkPmPEg

° Watch Video Solution

41. Which of the following elements will have the lowest

first ionisation energy?

A. Mg

B.Rb

C.Li

D. Ca

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2yZ7KZkPmPEg
https://dl.doubtnut.com/l/_0M8VcXIlq3rl

42. Which of the following species has lowest ionisation
potential?

A.O

B. O,

C.0,

D.O;

Answer: D

o Watch Video Solution

43. The correct order in which the first ionisation

potential increases is


https://dl.doubtnut.com/l/_nzvRwWlwhbYW
https://dl.doubtnut.com/l/_DsPGIT1mGPXs

A. K, Be, Na

B. Be, Na, K

C.Na, K, Be

D. K, Na, Be

Answer: D

o Watch Video Solution

44. Generally, the first ionisation energy increases along
a period. But there are some exceptions one which is not

an exception is

A.Nand O


https://dl.doubtnut.com/l/_DsPGIT1mGPXs
https://dl.doubtnut.com/l/_vZI6b5n8kNrr

B.Na and Mg

C. Mg and Al

D.Be and B

Answer: B

° Watch Video Solution

45. lonisation energy in

decreasing order as

A.Li > Na > K > Cs

B.Na >Li: > K > C's

C.Li >Cs > K > Na

group

I-A varies

in the


https://dl.doubtnut.com/l/_vZI6b5n8kNrr
https://dl.doubtnut.com/l/_YB0RU1I3RuZV

D.K > Cs > Na > Li

Answer: A

o Watch Video Solution

46. The second ionisation potential of an element M is

the energy required to

A. Remove one mole of electron from one mole of

gaseous anion

B. Remove one mole of electron from one mole of

gaseous cation of the element


https://dl.doubtnut.com/l/_YB0RU1I3RuZV
https://dl.doubtnut.com/l/_uy4Hg7hdDd4t

C. Remove one mole of electron from one mole of

monovalent gaseous cation of the element

D. Remove 2 moles of electrons from one mole of

gaseous atoms

Answer: C

° Watch Video Solution

47. Arrange S, P and As in order of increasing

ionisation energy.

AS < P < As

B.P< S < As


https://dl.doubtnut.com/l/_uy4Hg7hdDd4t
https://dl.doubtnut.com/l/_6u3en9bnH48a

CAs< S< P

D.As < P < S

Answer: C

o Watch Video Solution

48. Which ionisation potential (IP) in the following

equations involves the greatest amount of energy

A.Na — Na™ +e~

B.KT — K2t + e~

C.C?’" = (03" +e”

D.Cat™ — Ca?t + e~


https://dl.doubtnut.com/l/_6u3en9bnH48a
https://dl.doubtnut.com/l/_OBuYkbsl4jx7

Answer: B

o Watch Video Solution

49. Which of the following has highest ionisation energy

?
A. Oxygen
B. Nitrogen
C. Fluorine
D. Sulphur
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OBuYkbsl4jx7
https://dl.doubtnut.com/l/_fPbSM3qz0Rji

50. Which one of the following elements has the highest

ionisation energy?

A. Na

B. Mg

C.C

D.F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fPbSM3qz0Rji
https://dl.doubtnut.com/l/_Nyp5C6Arp2a3

51. Which of the following electrons should generally
have the highest value of ionization energy (for the

same value of the principal quantum number)

B.p

c.d

D.f

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IitGx7fYic0z

52. The first ionisation energy of beryllium is more than

that of boron because

A.Boron has higher nuclear charge

B. Atomic size of boron is more than that of beryllium

C. Boron has only one electron in p-sub-shell

D. Atomic size of boron is less than that of beryllium

Answer: C

o Watch Video Solution

5. A+ A" + e, E; and AT — A®T +e, E,. The

energy requried to pull out the two electrons are E; and


https://dl.doubtnut.com/l/_XTo6wUwfyNN6
https://dl.doubtnut.com/l/_JEJ5wcgC8Yc3

E, respectively. The correct relationship between two

energy would be

A E, < Ey

B.El — E2

C.E; > Ey

D.E, £ E,

Answer: A

° Watch Video Solution

54. Which of the following explanation is best for not
placing hydrogen in either the group of alkali metals or

halogens?


https://dl.doubtnut.com/l/_JEJ5wcgC8Yc3
https://dl.doubtnut.com/l/_cTpdclFz8pc9

A.The ionisation energy of hydrogen is too high for

group of alkali metals, but too low of halogen

group

B. Hydrogen can form compounds with all other

elements

C. Hydrogen is much lighter element than the alkali

metals of the halogens

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cTpdclFz8pc9

55. Choose the correct statement

A.lonisation energy and electron affinity increases

across a period

B. lonisation energy increases but electron affinity

decreases along a period

C.lonisation energy decreases but electron affinity

increases

D. Both decreases along a period

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_j8LLLpXzY6XG
https://dl.doubtnut.com/l/_keJWGZfGjwMe

56. The ionisation energy of an element is

A.The same as the electron affinity of the element

B. Equal in magnitude but of opposite sign to the

electron affinity of the element

C.The energy released when an electron is added to

an atom of the element

D.The energy required to remove the outermost

electron of an atom of the element

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_keJWGZfGjwMe
https://dl.doubtnut.com/l/_8Awfan8pr75F

57. Assertion :First ionization energy is lower than

oxygen.

Reason :Across a period effective charge decreases.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C.If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8Awfan8pr75F
https://dl.doubtnut.com/l/_XK9exjIkIhHd

58. Assertion: E° for Mn®>" /Mn*" is more positive
than Cr°* /Cr* ™"
Reason: The third ionisation energy of Mn is larger than
that of C'r.
A.If both assertion and reason are true and the
reason is the correct explanation of the assertion
B. If both assertion and reason are true but reason is
not a correct explanation of the assertion

C.If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XK9exjIkIhHd

59. Assertion : lonisation enthalpy is always negative.
Reason : Energy is always released when electrons are
removed.
A.If both assertion and reason are true and the
reason is the correct explanation of the assertion
B. If both assertion and reason are true but reason is
not a correct explanation of the assertion
C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

I o Wiakr~hh \Nndara CALiikiAan



https://dl.doubtnut.com/l/_XK9exjIkIhHd
https://dl.doubtnut.com/l/_nkFjlH4KpCqj
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60. Assertion: lonisation potential across the period is

Na < Al < Mg < Si.

Reason : lonisation potential decreases with decrease in

atomic size.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false


https://dl.doubtnut.com/l/_nkFjlH4KpCqj
https://dl.doubtnut.com/l/_1eZqW4coIzV2

Answer: C

o Watch Video Solution

Ordinary Thinking Objective Questions Electron Affinity

1. Which one of the following arrangements represents
the correct order of electron gain enthalpy of the given
atomic species?

ACI<F<S5<O0O

BO<S<F<C(CI

CS<O<C(Cl<F

DFEF<(Cl<O<S


https://dl.doubtnut.com/l/_1eZqW4coIzV2
https://dl.doubtnut.com/l/_XysN13CIKdo7

Answer: B

o Watch Video Solution

2. Which one of the following ionic species has the

greatest proton affinity to form stable compound ?

AHS™

B.NH,

C.F~

D.I~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XysN13CIKdo7
https://dl.doubtnut.com/l/_fg2WN5WmJAjE

3. Which one of the following arrangements represents

the correct order of least negative to most negative

electron gain enthalpy for C, Ca, Al ,F and O ?

AAl< Ca<O<C<F

BAl<O<(C<Ca< F

CC<F<O<Al<Ca

D.Ca< Al< C<O<F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fg2WN5WmJAjE
https://dl.doubtnut.com/l/_OO6LR209T93V

4. The amount of energy which is released due to

addition of ectra electron to the outermost orbit of

gaseous atom is called

A. Electron capacity

B. Electron affinity

C. lonisation potential

D. Electronegativity

Answer: B

° Watch Video Solution

5.The electron affinity of


https://dl.doubtnut.com/l/_W2jf7pDrvcZj
https://dl.doubtnut.com/l/_360n6yvY6RlF

A. Carbon is greater than oxygen

B. Sulphur is less than oxygen

C.lodine is greater than bromine

D. Bromine is less than chlorine

Answer: D

o Watch Video Solution

6. Fluorine has lower electron affinity than chlorine

because of

A. Smaller radius of fluorine, high density

B. Smaller radius of chlorine, high density


https://dl.doubtnut.com/l/_360n6yvY6RlF
https://dl.doubtnut.com/l/_dqmulsOeDZIM

C. Bigger radius of fluorine, less density

D. Bromine radius of chlorine, less density

Answer: A

o Watch Video Solution

7. Order of electron affinity of F', Cl, Br and I is

AF<Cl>Br>1

B.E >Cl>Br >1

CF<Cl<Br<lI

D.EE>Cl< Br >1


https://dl.doubtnut.com/l/_dqmulsOeDZIM
https://dl.doubtnut.com/l/_gwyfxH546REz

Answer: A

o Watch Video Solution

8. Which of the following has the least electron affinity in

kJmol ~'?

A. Oxygen

B. Carbon

C. Nitrogen

D. Boron

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gwyfxH546REz
https://dl.doubtnut.com/l/_Joas5jTgGTjc

9. Which of the following

electron affinity?

A F~

B.O

CO™

D. Na™

Answer: B

species has the highest

o Watch Video Solution



https://dl.doubtnut.com/l/_Joas5jTgGTjc
https://dl.doubtnut.com/l/_9DzmB1CjBvdR

10. Which of the following properties show gradual

decrease with increase in atomic number across a period

in the periodic table?

A. Electron affinity

B. lonisation potential

C. Electronegativity

D. Size of atom

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9BoMsBfO8faC

11. The electronic configuration of the element with
maximum electron affinity is

A.1s%, 252, 2p°

B. 152, 252, 2p5

C. 152, 232, 2p6, 332, 3p5

D.1s%, 252, 20°, 3s%, 3p°

Answer: C

o Watch Video Solution

12. Match the entries listed in column | with appropriate

properties listed in Column Il


https://dl.doubtnut.com/l/_LJeEDZionULI
https://dl.doubtnut.com/l/_1DEaKp6oOXzh

Column I Column IT

(A) He (¢)  High electron affinity

(B) Cl (1) Most electropositive element
(C) Ca (74¢) Strongest reducing agent
(D) Li (iv) Highest ionization energy

The correct match of contents in Column | with those in

Column I

AA—it B—i C—1i D—iv

BA—iv B—1ii1 C—1i D—1

CA—-i4w B—iv C—1i D—iu

D.A—4v B—1i C—1ii D —iig

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1DEaKp6oOXzh

13. The element with positive electron gain enthalpy is

A. Hydrogen

B. Sodium

C. Oxygen

D. Neon

Answer: D

o Watch Video Solution

14. The electron affinity values (in kJmol 1 ) of three
halogens, X, Y and Z are respectively -349, -333 and -325.

Then X, Y and Z are respectively


https://dl.doubtnut.com/l/_tV0Qcvafci42
https://dl.doubtnut.com/l/_ZSPMMVd5Shm9

A. Fz, Cl2 and B’f‘2

B. Clg, F2 and BT‘2

C. Clz, B’I"2 and F2

D. B'T'z, Clz and F2

Answer: B

o Watch Video Solution

15. Which one of the following is an incorrect statement?

A.The ionisation potential of nitrogen is greater

than that of oxygen


https://dl.doubtnut.com/l/_ZSPMMVd5Shm9
https://dl.doubtnut.com/l/_1KnGl3o9Qys4

B. The electron affinity of fluorine is greater than that

of chlorine

C.The ionisation potential of beryllium is greater

than that of boron

D.The electronegativity of fluorine is greater than

that of chlorine

Answer: B

o Watch Video Solution

16. Electron affinity depends on

A. Atomic size


https://dl.doubtnut.com/l/_1KnGl3o9Qys4
https://dl.doubtnut.com/l/_ilTEOEjhhjA4

B. Nuclear charge

C. Atomic number

D. Atomic size and nuclear charge both

Answer: D

° Watch Video Solution

17. The electron affinity for the inert gases is

A.Zero

B. High

C. Negative

D. Positive


https://dl.doubtnut.com/l/_ilTEOEjhhjA4
https://dl.doubtnut.com/l/_OzKKFAOaN3p6

Answer: A

o Watch Video Solution

18. The correct order of electron affinity of B,C,N, O is

AO>C>N>B

BBB>N>C>O0

CO>C>B>N

DO>B>C>N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OzKKFAOaN3p6
https://dl.doubtnut.com/l/_314zOppHu9kt
https://dl.doubtnut.com/l/_jsslg1VgRG34

19. the amount of energy released when 10° atoms of
iodine in vapour state are converted to I~ ions is
4.8 x 1013 J. What is the electron affinity of iodine in
ev/atom.

A.2.0

B.2.5

C.2.75

D. 3.06

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jsslg1VgRG34

20.The electron affinity of Be is almost similar to that of

A. Ne

B.B

C.Li

D. Na

Answer: A

° Watch Video Solution

21. Which among the following factors is the most

important in making fluorine oxidizing halongen?


https://dl.doubtnut.com/l/_uJTiiHWol73a
https://dl.doubtnut.com/l/_3qLG0PfR10xi

A. Hydration enthalpy

B. lonisation enthalpy

C. Electron affinity

D. Bond dissociation energy

Answer: D

o Watch Video Solution

22. Which of the following pairs show reverse properties
on moving along a period from left to right and from

top to down in a group?

A. Nuclear charge and electron affinity


https://dl.doubtnut.com/l/_3qLG0PfR10xi
https://dl.doubtnut.com/l/_uINXiPuqK00p

B. lonisation energy and electron affinity

C. Atomic radius and electron affinity

D. None of these

Answer: C

o Watch Video Solution

23. Nitrogen has lower electron affinity than its

preceding element carbon because

A. Electron affinity decreases along a period

B. Electron affinity generally increases along a period

C. Nitrogen atom has half filled p-orbital


https://dl.doubtnut.com/l/_uINXiPuqK00p
https://dl.doubtnut.com/l/_WfDSSmSBn9Rr

D. Nitrogen is a p-block element

Answer: C

o Watch Video Solution

24.In comparison with alkali metals, the electron affinity

of halogens is

A. Very high

B. Very low

C. Nearly same

D. Exactly same

Answer: A


https://dl.doubtnut.com/l/_WfDSSmSBn9Rr
https://dl.doubtnut.com/l/_1R9lhSNmxUAa

o Watch Video Solution

25. Assertion : More is the electron affinity greater is the

reducing character.

Reason : Reducing character depends on number of

electrons gained.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false


https://dl.doubtnut.com/l/_1R9lhSNmxUAa
https://dl.doubtnut.com/l/_DhrDNMqVKVeW

Answer: D

o Watch Video Solution

Ordinary Thinking Objective Questions Electronegativity

1. Which one of the following represents the electronic
configuration of the most electropositive element?

A. [He)2s

B. [Xe]6s

C.[He]2s”

D. [Xe]6s”


https://dl.doubtnut.com/l/_DhrDNMqVKVeW
https://dl.doubtnut.com/l/_qvNrfohBgSmQ

Answer: B

o Watch Video Solution

2. Which of the following is the most electropositivite

element?

A. Aluminium

B. Magnesium

C. Phosphorus

D. Sulphur

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qvNrfohBgSmQ
https://dl.doubtnut.com/l/_MS69hrGkuHj3

3. Which element has the lowest electronegativity

A. Li

B.F

C.Fe

D. Cl

Answer: A

o Watch Video Solution

4. Which of the following elements has maximum

electronegativity?


https://dl.doubtnut.com/l/_MS69hrGkuHj3
https://dl.doubtnut.com/l/_aFn1b9Q0tP1h
https://dl.doubtnut.com/l/_LdQxhlLgBT6v

A Al

B.S

C.Si

D.P

Answer: B

o Watch Video Solution

5. Electronegativity is a measure of the capacity of an

atom to

A. Attract electrons

B. Attract protons


https://dl.doubtnut.com/l/_LdQxhlLgBT6v
https://dl.doubtnut.com/l/_PW93Mg5zsJA2

C. Repel electrons

D. Repel protons

Answer: A

o Watch Video Solution

6. Most electronegative element is

A Al

B.C

C.Si

D. Be


https://dl.doubtnut.com/l/_PW93Mg5zsJA2
https://dl.doubtnut.com/l/_xK4n5wNNUYdQ

Answer: B

o Watch Video Solution

7. The chemical elements are arranged in the order of

increasing electronegativities in the sequence:

A. P, Si, Se, Br, N

B. Si, Se, P, Br, N

C.Si, P,Se,Br,N

D. Se, P, Si, Br, N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xK4n5wNNUYdQ
https://dl.doubtnut.com/l/_qe4ZfESuLylw

8. Which of the following have no unit?

A. Electronegativity

B. Electron affinity

C. lonisation energy

D. Excitation potential

Answer: A

o Watch Video Solution

9. An atom with high electronegativity has


https://dl.doubtnut.com/l/_qe4ZfESuLylw
https://dl.doubtnut.com/l/_IFl1xVIvSfxK
https://dl.doubtnut.com/l/_NTWnx5vozAT3

A. Large size

B. High ionisation potential

C. Low electron affinity

D. Low ionisation potential

Answer: B

o Watch Video Solution

10. The correct order of decreasing electronegativity
values among the element I-beryllium, ll-oxygen, lil-

nitrogen and IV-magnesium is

A (II) > (III) > (I) > (IV)


https://dl.doubtnut.com/l/_NTWnx5vozAT3
https://dl.doubtnut.com/l/_Z26TKpqliZBc

B.(III) > (IV) > (II) > (I)
C.(I) > (II) > (III) > (IV)

D.(I) > (II) > (IV) > (III)

Answer: A

o Watch Video Solution

1. In the following, the element with the highest

electropositivity is

A. Copper

B. Cesium

C.Barium


https://dl.doubtnut.com/l/_Z26TKpqliZBc
https://dl.doubtnut.com/l/_ee7DUexncEm8

D. Chromium

Answer: B

o Watch Video Solution

12. On going from right to left in a period in the periodic

table the electronegativity of the elements:

A. Increases

B. Decreases

C. Remain unchanged

D. Decreases first then increases

Answer: B


https://dl.doubtnut.com/l/_ee7DUexncEm8
https://dl.doubtnut.com/l/_cSyDwiOmyiTK

° Watch Video Solution

13. The element with highest electronegativity is

A C

B. Mg

C.O

D.S

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cSyDwiOmyiTK
https://dl.doubtnut.com/l/_8kQNwsBlqiKa

14. Going from fluorine to chlorine, bromine and iodine,

the electronegativity

A. Increases

B. Decreases

C. First decreases then increases

D. Changes randomly

Answer: B

o Watch Video Solution

15. With respect of chlorine, hydrogen will be


https://dl.doubtnut.com/l/_z9Sl55iKpvzQ
https://dl.doubtnut.com/l/_UW5c8njzInO1

A. Electropositive

B. Electronegative

C. Neutral

D. None of the above

Answer: A

° Watch Video Solution

16. Between HBr, Hl, HF has the highest ionic character

because

A. F has the highest electron affinity

B. In HF, electronegativity difference is highest


https://dl.doubtnut.com/l/_UW5c8njzInO1
https://dl.doubtnut.com/l/_rnk5it1OPdIP

C. F'~ ion has the highest value of ionic radius

D. Atomic orbitals of H and F have almost similar

energy

Answer: B

° View Text Solution

17. In third period of the long form of the periodic table

that is from Na to Cl

A. Electronegativity increases

B. Electronegativity decreases

C. lonisation energy decreases


https://dl.doubtnut.com/l/_rnk5it1OPdIP
https://dl.doubtnut.com/l/_Q0OIxdjVqNfO

D. Atomic volume increases

Answer: A

o Watch Video Solution

18. On Pauling scale which of the following does not have

electronegativity value greater than 3.0?

A. Oxygen

B. Nitrogen

C. Chlorine

D. Bromine

Answer: D


https://dl.doubtnut.com/l/_Q0OIxdjVqNfO
https://dl.doubtnut.com/l/_HzHVkTRUmxLE

° Watch Video Solution

19. The most polar bond is

A.O-F

B. N-Cl

C.N-F

D. N-N

Answer: C

o Watch Video Solution

20. Which of the following is a false statement


https://dl.doubtnut.com/l/_HzHVkTRUmxLE
https://dl.doubtnut.com/l/_RKYXfxvF8utW
https://dl.doubtnut.com/l/_M7smDqSu7mXI

A. Fluorine is more electronegative than chlorine

B. Nitrogen has greater I E; than oxygen

C. Lithium is amphoteric

D. Chlorine is an oxidising agent

Answer: C

o Watch Video Solution

21. The solubilities of carbonates decreases down the

magnesium group due to a decrease in

A. Lattice energies of solids

B. Hydration energies of cations


https://dl.doubtnut.com/l/_M7smDqSu7mXI
https://dl.doubtnut.com/l/_ocRVgwLn9kwa

C. Inter-ionic attraction

D. Entropy of solution formation

Answer: B

o Watch Video Solution

22. Among Aly03, Si0,, P,O5 and SO5; the correct

order of acid strength is :-

A. Al203 < 5109 < S04 < P203

B. 510y < SOy < Al,O3 < P04

C. S0, < P,O3 < S8i0y < AlyO4

D. Al,O3 < Si0y < P03 < S0,


https://dl.doubtnut.com/l/_ocRVgwLn9kwa
https://dl.doubtnut.com/l/_P0aHe2NdNN7E

Answer: D

o Watch Video Solution

23. Keeping in view the peroidic law and the periodic

table suggest which of the following elements should

have the maximum electronegative character

A P

B. As

C.Bi

D. Sb

Answer: A



https://dl.doubtnut.com/l/_P0aHe2NdNN7E
https://dl.doubtnut.com/l/_YloaXHtEVtU5

l &J Watch Video Solution J

24. Pauling's equation for determining the
electronegativity of an element, is (X4, Xp are
electronegativity value of elements A and B respectively,
A represents the polarity of A-B bond.)

A X, — Xp = 0.208//A

B. X4+ Xp = 0.208\/Z

C. X, — X5 = 0.208A2

D.X4 — Xg=+A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YloaXHtEVtU5
https://dl.doubtnut.com/l/_rZmbjDjJts1Z

25. The potarising ability of which one of the following is

the highest

A. Small highly +ve ion

B. Large +ve ion

C. Small highly -ve ion

D. Large -ve ion

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rZmbjDjJts1Z
https://dl.doubtnut.com/l/_GN0KdPYb7NdW

26. Which of the following is the second most

electronegative element?

A. Chlorine

B. Oxygen

C. Sulphur

D. Fluorine

Answer: B

o Watch Video Solution

27. If the difference in electronegativities of two

elements is very large, then


https://dl.doubtnut.com/l/_zR0FlR7J7TAB
https://dl.doubtnut.com/l/_kvI8GpBuDW4S

A. The bond is 50% ionic

B. The bond is 100% covalent

C. The bond is more covalent than ionic

D. The bond is more ionic than covalent

Answer: D

o Watch Video Solution

Ordinary Thinking Objective Questions Valency And

Oxidation State

1. If the valency shell electronic structure for an element

is ns?np®, this element will belong to the group of


https://dl.doubtnut.com/l/_kvI8GpBuDW4S
https://dl.doubtnut.com/l/_CChv6cNWWNGG

A. Alkali metals

B. Inert metals

C. Noble gases

D. Halogens

Answer: D

o Watch Video Solution

2. Which of the following elements shows maximum

number of different oxidation states in its compounds ?

A. Eu

B. La


https://dl.doubtnut.com/l/_CChv6cNWWNGG
https://dl.doubtnut.com/l/_vQHSiXOLjL46

C.Gd

D. Am

Answer: D

o Watch Video Solution

3. which of the following gas does not have an octet or

eight electrons in the outer shell?

A. Ne

B. Ar

C.Rn

D. He


https://dl.doubtnut.com/l/_vQHSiXOLjL46
https://dl.doubtnut.com/l/_WA0BzuYkbtSL

Answer: D

o Watch Video Solution

4. Which one of the elements with the following outer

orbital configuration may exhibit the larger number of

oxidation states ?

A. 3d34s>

B. 3d°4s!

C.3d%4s>

D. 3d%4s>

Answer: C

| - |


https://dl.doubtnut.com/l/_WA0BzuYkbtSL
https://dl.doubtnut.com/l/_R6o1NCJrb28t

l & Watch Video Solution

5. Tnallium shows different oxidation states because:

A. It is a transition element

B. Of inert pair effect

C. Of its amphoteric character

D. Of its higher reactivity

Answer: B

o Watch Video Solution

6. Acidity of pentoxides in V A group


https://dl.doubtnut.com/l/_R6o1NCJrb28t
https://dl.doubtnut.com/l/_VkjACEua1ybi
https://dl.doubtnut.com/l/_915QlmkOsSpG

A. Decreases

B. Increases

C. Remain same

D. None

Answer: A

o Watch Video Solution

7. Out of the following elements,which one is the most

reactive chemically?

A. Mg

B. Ca


https://dl.doubtnut.com/l/_915QlmkOsSpG
https://dl.doubtnut.com/l/_qMI908YivZlZ

C.Sr

D. Ba

Answer: D

o Watch Video Solution

8. Variable valency is characteristic of

A. s-block elements

B. p-block elements

C. d-block elements

D. All of these


https://dl.doubtnut.com/l/_qMI908YivZlZ
https://dl.doubtnut.com/l/_FDFbpSy3Uivm

Answer: C

° Watch Video Solution

9. Which one of the following orders presents the

correct sequence of the increasing basic nature of the

given oxides?

A. Al,O3 < MgO < NayO < K50

B. MgO < K50 < Al203 < Na»O

C. NCLQO < KQO < MgO < Al203

D. K30 < Nas0 < Al,0O3 < MgO

Answer: A



https://dl.doubtnut.com/l/_FDFbpSy3Uivm
https://dl.doubtnut.com/l/_K5c3xVDOrKzj

l & Watch Video Solution J

10. Which of the following set has the strongest

tendency to form anions?

A.Ga, In and Te

B. Na, Mg and Al

C.N,Oand F

D.V, Cr and Mn

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_K5c3xVDOrKzj
https://dl.doubtnut.com/l/_txLUbNWvivOM

1. the maximum valency of an element with atomic

number 7 is

A2

B.5

C.4

D.3

Answer: B

o Watch Video Solution

12.1n any period, the valency of an element with respect

to oxygen


https://dl.doubtnut.com/l/_dOt4xmR75XLI
https://dl.doubtnut.com/l/_Mzy9eUl6NfxD

A. Increases one by one from IA to VIIA

B. Decreases one by one from IA to VIIA

C.Increases one by one from IA to IVA and then

decreases from VA to VIIA one by one

D. Decreases one by one from IA to IVA and then

increases from VA to VIIA one by one

Answer: C

o Watch Video Solution

13. The correct order of increasing oxidising power

A Fy < Cly < Bry < I


https://dl.doubtnut.com/l/_Mzy9eUl6NfxD
https://dl.doubtnut.com/l/_9v3qLbMFVL2L

B.Fy < Bry < Cly < I

C.Cly < Bry < Fy < I

D.I, < Bry < Cly < Fy

Answer: D

° Watch Video Solution

14. Which of the following sequence correctly represents

the decreasing acidic nature of oxides?

A. Lio0O > BeO > By03 > COy > N5Os3

B.N203 > 002 > B203 > BeO > L’L2O

C.COy > N,O3 > By,0O3 > BeO > LiyO


https://dl.doubtnut.com/l/_9v3qLbMFVL2L
https://dl.doubtnut.com/l/_xmGbNgyFbocd

D. 3203 > C0Oy > N203 > Li,0 > BeO

Answer: B

o Watch Video Solution

15. The halogen that is most easily reduced is

A F,

B. Cl,

C. B’I"Q

D. I,

Answer: A

[ o war_ao_L vl e~_ .. _


https://dl.doubtnut.com/l/_xmGbNgyFbocd
https://dl.doubtnut.com/l/_PMxdSzUGspDT

L vvallil viuco o0IuLivll J

16. In the periodic table, the metallic character of

elements

A. Decreases from left to right across a period and on

descending a group

B. Decreases from left to right across a period and

increases on desecending a group

C.Increases from left to right across a period and on

descending a group

D. Increases from left to right across a period and

decreases on descending a group


https://dl.doubtnut.com/l/_PMxdSzUGspDT
https://dl.doubtnut.com/l/_AAKa6GmNFYO4

Answer: B

o Watch Video Solution

17. Which metal exhibits more than one oxidation states

in their compounds

A. Na

B. Mg

C.Fe

D. Al

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AAKa6GmNFYO4
https://dl.doubtnut.com/l/_WvGs11nIveNV

18. The correct order of decreasing ionic character is

A. BeCly, < MgCly < CaCly < BaCl,

B.BGCZQ < MgCl2 < BCLClQ > CG,CZQ

C. BeCly < BaCly < MgCly < CaCl,

D. BaCly < CaCly < MgCly < BeCl,

Answer: A

o Watch Video Solution

19. Which of the following electronic configuration in the

outermost shell is characterstic of alkali metals? A)


https://dl.doubtnut.com/l/_WvGs11nIveNV
https://dl.doubtnut.com/l/_builX7SvoPNL
https://dl.doubtnut.com/l/_JMJzmQWyyj5D

(n — 1)s*p®, ns’p! B)(n — 1)s°p®, d'%, ns’ Q)
(n — 1)s*p®, ns' D)(n — 1)s%p°, ns!

A (n — 1)s%p®, ns’p!

B.(n — 1)s*p°d'?, ns'
1

C.(n —1)s*p°, ns

D. ns?pld!

Answer: C

o Watch Video Solution

20. Which of the following elements show maximum

valency ?


https://dl.doubtnut.com/l/_JMJzmQWyyj5D
https://dl.doubtnut.com/l/_AKymg1Hgj1ER

A. Carbon

B. Barium

C. Nitrogen

D. Sulphur

Answer: D

o Watch Video Solution

21. Fluorine is the best oxidising agent because it has

A. Highest electron affinity
B. Highest E° ,

C.Highest E° .,


https://dl.doubtnut.com/l/_AKymg1Hgj1ER
https://dl.doubtnut.com/l/_HDyffTyfDL5Q

D. Lowest electron affinity

Answer: B

o Watch Video Solution

22. Which of the following element is found in its native

state:-

A. Al

B. Au

C.Cu

D. Na

Answer: B


https://dl.doubtnut.com/l/_HDyffTyfDL5Q
https://dl.doubtnut.com/l/_9LMRU5pLIihW

° Watch Video Solution

23. The basis of keeping the elements in the group of

periodic table is

A. lonisation potential

B. Electronegativity

C. Electron affinity

D. Number of electrons in the valence shell

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9LMRU5pLIihW
https://dl.doubtnut.com/l/_PYquTHLmMYe7

24. Beryllium and aluminimum exhibit many properties

which are similar . But, the two elements differ in

A. Forming covalent halides

B. Forming polymeric hydrides

C. Exhibiting maximum covalency in compounds

D. Exhibiting amphoteric nature in their oxides

Answer: C

o Watch Video Solution

25. The most stable oxidation state of thallium is +1


https://dl.doubtnut.com/l/_QeZncmiTHOlb
https://dl.doubtnut.com/l/_7RxQ5hDxrW1f

A.O

B.+1

C.+2

D.+3

Answer: B

o Watch Video Solution

26. An element X which occurs in the second short
period has an outer electronic structure s’p' What are

the formula and acid -base character of its oxides ?

A. X O3, basic


https://dl.doubtnut.com/l/_7RxQ5hDxrW1f
https://dl.doubtnut.com/l/_nA9UbRpMICab

B. X,03), basic
C. X503, amphotaric

D. XO, acidic

Answer: C

° Watch Video Solution

27. Which of these is the weakest base?

A. NaOH
B. KOH
C.Ca(OH),

D. Zn(OH),


https://dl.doubtnut.com/l/_nA9UbRpMICab
https://dl.doubtnut.com/l/_PLyfX8DRMQhK

Answer: D

o Watch Video Solution

28. Fluorine, chlroine, bromine and iodine are placed in

the same group (17) of the periodic table, because

A. They are non-metals

B. They are electronegative

C. Their atoms are generally univalent

D.They have 7 electrons in the outermost shell of

their atom

Answer: D



https://dl.doubtnut.com/l/_PLyfX8DRMQhK
https://dl.doubtnut.com/l/_5hoJW0uVQF5F

I o Watch Video Solution

29. the pentavalence in phosphorus is more stable as

compared to that of nitrogen even though they belong

to the same group. It is due to

A. Reactivity of phosphorus

B. Inert nature of nitrogen

C. Dissimilar electronic configuration

D. Larger size of phosphorus atom

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5hoJW0uVQF5F
https://dl.doubtnut.com/l/_ZBngnleOdtwB
https://dl.doubtnut.com/l/_r0iqjGFgvDfN

30. In the periodic table, the basic character of oxides

A. Increases from left to right and decreases from top

to bottom

B. Decreases from right to left and increases from

top to bottom

C. Decreases from left to right and increases from

top to bottom

D. Decreases from left to right and increases from

bottom to top

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r0iqjGFgvDfN

31. The stable bivalency of Pb and trivalency of Bi is

A. Due to d contraction in Pb and Bi

B. Due to relativistic contraction of the 6s orbitals of

Pb and Bi, leading to inert pair effect

C. Due to screening effect

D. Due to attainment of noble configuration

Answer: B

o Watch Video Solution

32. Which will show maximum non-metallic character


https://dl.doubtnut.com/l/_r0iqjGFgvDfN
https://dl.doubtnut.com/l/_IbTg93mVbciA
https://dl.doubtnut.com/l/_xEV6ar39Qsa2

A.B

B. Be

C. Mg

D. Al

Answer: A

o Watch Video Solution

33. All element in 3rd period have

A. An atomic nhumber 3

B. 3 complete sub-shells

C. Valence electrons shell


https://dl.doubtnut.com/l/_xEV6ar39Qsa2
https://dl.doubtnut.com/l/_NJxCdrUMng10

D. 3 electrons less than the octet

Answer: C

o Watch Video Solution

34. 3 and 6 electronic are present in the outermost

orbit A and B respectively. The chemical formula of its

compound will be

C.A,B

D.AB


https://dl.doubtnut.com/l/_NJxCdrUMng10
https://dl.doubtnut.com/l/_O37SX2cNcxEL

Answer: B

o Watch Video Solution

35. Elements A and B with their respective electronic
configurations 3d'%4s' and 4d'°5s! in their outermost
shell are

A. Both non-metals

B. Both coinage metals

C.Ais a non-metal and B is coinage metal

D. Ais a coinage metal and B is non-metal

Answer: B



https://dl.doubtnut.com/l/_O37SX2cNcxEL
https://dl.doubtnut.com/l/_GggogZ9rOjas

l & Watch Video Solution J

36. Which of the following group of elements eliminates

electron easily

A.N, P, As

B.O, S, Se

C. Li,Na, K

D.Cl,Ba, |

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GggogZ9rOjas
https://dl.doubtnut.com/l/_7ol19T20OdQ8

37. An ion has 18 electrons in the outermost shell it is

AKT

B.Ca’™

C.Na™

D.Cu™

Answer: D

° Watch Video Solution

38. Assertion : Dinegative anion of oxygen (02_) is

quite common but dinegative anion of sulphur (52_) is


https://dl.doubtnut.com/l/_vuWtbQPcTfJ3
https://dl.doubtnut.com/l/_hCwyyakFqJ0v

less common.

Reason : Covalency of oxygen is two.

A.If both assertion and reason are true and the

reason is the correct explanation of the assertion

B. If both assertion and reason are true but reason is

not a correct explanation of the assertion

C.If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

o Watch Video Solution

Critical Thinking Objective Questions


https://dl.doubtnut.com/l/_hCwyyakFqJ0v

1. Which element having the following electronic
configuration has minimum ionisation potential?

A. 1st

B. 132, 232, 2p6

C.1s"(2),25"(2),2p"(6),3s (1)’

D. 1s%, 2s?2p*

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ys0Ux29Y3XFq

2. A sudden large jump between the values of second
and third ionisation energies of an element would be
associated with the electronic configuration

A.1$2,2s2,2p6,331

B. 152, 252, 2p°, 3523p!

C.1s%, 2s%, 2p°, 32, 3p*

D. 152, 2322]96, 3s?

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bT996NW7yrUy

3. The elements which occupy the peaks of ionisation

energy curve are

A. Na, K, Rb, Cs

B. Na, Mg, Cl, |

C.Cl,Br, I, F

D. He, Ne, Ar, Kr

Answer: D

o Watch Video Solution

4.The pair of amphoteric hydroxides is


https://dl.doubtnut.com/l/_BuWK5GuEBKCH
https://dl.doubtnut.com/l/_PzKm9DQb0EL0

A Al(OH),, LiOH
B. Be(OH),, Mg(OH),
C. B(OH),, Be(OH),

D. Be(OH),, Zn(OH),

Answer: D

o Watch Video Solution

5. Which of the following statement is correct with
respect to the property of elements with an increase in

atomic number in the carbon family (group 14)?

A. Atomic size decrease


https://dl.doubtnut.com/l/_PzKm9DQb0EL0
https://dl.doubtnut.com/l/_rf4qr7MDaJba

B. lonisation energy increase

C. Metallic character decrease

D. Stability of +2 oxidation state increase

Answer: D

° Watch Video Solution

6. What will be the order of first ionisation energy?

A.Li > Na > K

B.K > Li > Na

C.Na > 11 > K

D.L: > K > Na


https://dl.doubtnut.com/l/_rf4qr7MDaJba
https://dl.doubtnut.com/l/_PnUSNCCnjpxl

Answer: A

o Watch Video Solution

7. Which of the following two elements in the periodic

table are expected to combine in the most violent

fashion?

A.Hand O

B.Cland F

C.Mg and N

D.Csand F

Answer: D

| - |


https://dl.doubtnut.com/l/_PnUSNCCnjpxl
https://dl.doubtnut.com/l/_lXcnRpkJsM70

l &J Watch Video Solution J

8. The first (A;H; and second (A;H, ionization
enthalpies (in kJ/mol) and electron gain enthalpy (in

klJ/mol) of few elements are given below:

Elements Azﬂl AZH2 AegH

I 520 7300 —60
II 1681 3374 —328
IIT 899 1757  +48
v 2372 5251 448

Which of the following is likely to be an alkali metal?

A.land V
B.V and Il
C.land V

D.IVand V


https://dl.doubtnut.com/l/_lXcnRpkJsM70
https://dl.doubtnut.com/l/_u4zxMESlLXH6

Answer: C

° Watch Video Solution

9. Which of the following is arranged in order of
increasing density

A Al < Mg < C(graphite) < B

B.B < Al < Mg < C(graphite)

C. C(graphite) < Al < B < Mg

D. Mg < C(graphite) < B < Al

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_u4zxMESlLXH6
https://dl.doubtnut.com/l/_1rY4joYYXbtG

10. Which has the highest melting point?

A. LicCl

B. BGCZZ

C. BCl;

D.CCly

Answer: B

o Watch Video Solution

11. One among the following is the incrorrect order of

increasing ionisation energy :


https://dl.doubtnut.com/l/_1rY4joYYXbtG
https://dl.doubtnut.com/l/_LZNeE2606EXj
https://dl.doubtnut.com/l/_zJAQetVCTIDd

ACl- < Ar< K™

B.AtAg < Cu

CCs< Rb< K

D.K < Ca < Sc

Answer: B

o Watch Video Solution

12. Increasing order of electronegativity is

A Bi<P<S8<C(Cl

B.P< Bi< S<(Cl

CS<Bi<P<C(Cl


https://dl.doubtnut.com/l/_zJAQetVCTIDd
https://dl.doubtnut.com/l/_ylEFXUyLwQnO

D.Cl< S<Bi< P

Answer: A

° Watch Video Solution

13. Which is the correct order of ionic sizes (At. No. :

Ce=58, Sn=50, Yb=70 and Lu=71)

A.Ce > Sn >Yb> Lu

B.Sn >Ce >Lu >Yb

C.Lu >Yb> Sn > Ce

D.Sn >Yb > Ce > Lu

Answer: B


https://dl.doubtnut.com/l/_ylEFXUyLwQnO
https://dl.doubtnut.com/l/_wmFRPY4b5GBu

° Watch Video Solution

14. Which of the following is not the correct
arrangement according to the property indicated
against it ?
A APT < Mg>" < Na™ < F~ : Increasing ionic
size
B.B<C <N <O : Increasing first ionisation
enthalpy
C.I < Br < F <C(Cl : Increasing electron gain
enthalpy (with negative sign)

D.Li < Na < K < Rb: Increasing metallic radius


https://dl.doubtnut.com/l/_wmFRPY4b5GBu
https://dl.doubtnut.com/l/_uB5slTue8idj

Answer: B

° Watch Video Solution

15. Which of the following oxides is amphoteric in

nature?

A. CaO

B.CO,

C. 5704

D. S’I’LOQ

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uB5slTue8idj
https://dl.doubtnut.com/l/_Ye59yodtonsy

16. which of the following configurations represents
atoms of the elements having the higest second
ionisation energy?

A. 1822822p4

B. 13223221)6

C. 1822822p6381

D. 1322322196332

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ye59yodtonsy
https://dl.doubtnut.com/l/_4KGIRNVcbc9o

17. In which block does 106th element belong?

A. s-block

B. p-block

C. d-block

D. f-block

Answer: C

o Watch Video Solution

18. Which is the wrong order for the stated property ? .

A. Ba > Sr > Mg : atomic radius


https://dl.doubtnut.com/l/_vt38AmF6iGQz
https://dl.doubtnut.com/l/_hLpRqX4K016F

B.EF' > O > N : first ionisation enthalpy

C.Cl > F > [: electron affinity

D.O > Se > Te: electronegativity

Answer: B

° Watch Video Solution

19. Which of the following is not a periodic property

A. Electronegativity

B. Atomic volume

C. Covalent radii

D. Atomic mass


https://dl.doubtnut.com/l/_hLpRqX4K016F
https://dl.doubtnut.com/l/_LGxi81cPxr90

Answer: D

o Watch Video Solution

20. Which of the following has greatest tendency to lose

electron ?

A F

B.S

C.Fe

D. Be

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LGxi81cPxr90
https://dl.doubtnut.com/l/_A9JG2CnT2BZl

Jee Section Only One Choice Correct Answer

1. The correct order of the second ionisation potential of

carbon, nitrogen, oxygen and fluorine is

AC>N>0>F

B.O>N>F>C(C

CO>F>N>C

DF >0 >N >C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_A9JG2CnT2BZl
https://dl.doubtnut.com/l/_TGnrmhYhLcjQ
https://dl.doubtnut.com/l/_vsgdoou4hyVS

2.The element with highest ionization potential is

A. Boron

B. Carbon

C. Nitrogen

D. Oxygen

Answer: C

o Watch Video Solution

3. The first ionisation potential in electron volts of

nitrogen and oxygen atoms are respectively given by


https://dl.doubtnut.com/l/_vsgdoou4hyVS
https://dl.doubtnut.com/l/_EAPemeuNCDSn

A.14.6,13.6

B.13.6,14.6

C.13.6,13.6

D.14.6,14.6

Answer: A

o Watch Video Solution

4. Fluorine and neon have atomic radii in angstrom

given by

A.0.72,1.60

B. 1.60, 1.60


https://dl.doubtnut.com/l/_EAPemeuNCDSn
https://dl.doubtnut.com/l/_TB04fEVrMVSd

C.0.72,0.72

D. None of these values

Answer: A

o Watch Video Solution

5. The electronegativity of the following elements

increases in the order

A.C,N,Si,P

B.N,Si,C,P

C.Si,P,C N

D.P,Si,N,C


https://dl.doubtnut.com/l/_TB04fEVrMVSd
https://dl.doubtnut.com/l/_Fy0ui9GXkhiP

Answer: C

o Watch Video Solution

6. The first ionisation potential of Na, Mg, Al and Si

are in the order

A.Na < Mg > Al < Si

B. Na > Mg > Al > Si

C.Na < Mg < Al < Si

D. Na > Mg > Al < St

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Fy0ui9GXkhiP
https://dl.doubtnut.com/l/_H8eEYRd8TfTW

7.Which of the following is paramagnetic?

AO;
B.CN ™
C.CO

D.NO™

Answer: A

o Watch Video Solution

8. Which one of the following is the strongest base ?


https://dl.doubtnut.com/l/_H8eEYRd8TfTW
https://dl.doubtnut.com/l/_j0iOhnyhnDxq
https://dl.doubtnut.com/l/_KlaUS0CULrg6

A. ASH3

B. NH,

C. PH,

D. SbH,

Answer: B

o Watch Video Solution

9. Which one of the following is the smallest in size?

A N3~

B.O?~

C.F~


https://dl.doubtnut.com/l/_KlaUS0CULrg6
https://dl.doubtnut.com/l/_W0QUwL03nWcJ

D.Na™

Answer: D

o Watch Video Solution

10. Arrange S, O and Se in acending order of electron

affinity?

AO < Se<S

B.Se<O< S

C.S<O< Se

D.S < Se <O

Answer: A


https://dl.doubtnut.com/l/_W0QUwL03nWcJ
https://dl.doubtnut.com/l/_6nT4eIvaEllX

° Watch Video Solution

11. The size of the following species increases in the

order

A Mg>" < Nat < F~ < Al
B.F~ < Al < Na™ > Mg*™"
C.Al < M¢** < F~ < Na™*

D.Na™ < Al < F~ < Mg**

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6nT4eIvaEllX
https://dl.doubtnut.com/l/_zihPMYoI2RAi

12. Amongst the following elements (whose electronic
configuration an given below) the one having highest
ionization energy is

A.[Ne]3s*3p'

B. [Ne]3s?3p’

C. [Ne]3s*3p®

D. [Ne|3d'%4s%4p’

Answer: B

° Watch Video Solution

13. The process requiring the absorption of energy is


https://dl.doubtnut.com/l/_TS1Yeewq07V0
https://dl.doubtnut.com/l/_wx2UoUyHj2eb

AF — F~

B.Cl — Cl™

C.O — 0>~

D.H — H™

Answer: C

o Watch Video Solution

14. The statement that is not correct for periodic
classification of element isA)The properties of elements
are periodic function of their atomic numbers B)Non-
metallic elements are less in number than metallic

elements C)For transition elements, the 3d-orbitals are


https://dl.doubtnut.com/l/_wx2UoUyHj2eb
https://dl.doubtnut.com/l/_GAlEuzMT5JJa

filled with electron after 3p-orbitals and before 4s-

orbitals D)The first ionisation enthalpies of elements

generally increase with increase in atomic number as we

go along a period

A.The properties of elements are the periodic

functions of their atomic numbers

B. Non-metallic elements are lesser in number than

metallic elements

C.The first ionization energies of elements along a

period do not vary in a regular manner with

increase in atomic number

D. For transition elements the d-subshell are filled

with electrons monotonically with increase in


https://dl.doubtnut.com/l/_GAlEuzMT5JJa

atomic number

Answer: D

° Watch Video Solution

15. If first orbit energy of He™ is -54.4 eV, then the

second orbit energy will be

A. —54.4eV
B. —13.6eV
C. —27.2eV
D. +27.2eV

Answer: B


https://dl.doubtnut.com/l/_GAlEuzMT5JJa
https://dl.doubtnut.com/l/_ncGoi7EnpsoE

° Watch Video Solution

16. Which has the most stable + 2 oxidation state ?

A.Sn

B.Pb

C.Fe

D. Ag

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ncGoi7EnpsoE
https://dl.doubtnut.com/l/_YOecYaUvMmz0

17. K™, CI,Ca®", 8%~ ions are isoelectronic. The
decreasing order of other size is:

AKT >Ca®" > 8" >Cl

B.K" > Ca*" > Cl~ > §*"

C.Ca*" >K*' >Cl” > 8%

D.S? 2~ >Cl” > K* > Ca®*

Answer: D

o Watch Video Solution

18. Which one of the elements has the maximum

electron affinity?


https://dl.doubtnut.com/l/_72P7LNSuc7Rd
https://dl.doubtnut.com/l/_dhIUdrhzK3Ja

A F

B. Cl

C.Br

D. |

Answer: B

o Watch Video Solution

19. Which element has the highest electronegative
Or

Which of the following is the most electronegative

A F


https://dl.doubtnut.com/l/_dhIUdrhzK3Ja
https://dl.doubtnut.com/l/_B1CougX6f1td

B. He

C. Ne

D. Na

Answer: A

° Watch Video Solution

20. Which of the following has the maximum number of

unpaired electrons ?

A Mg**

B. T3+


https://dl.doubtnut.com/l/_B1CougX6f1td
https://dl.doubtnut.com/l/_uu9CLgXya6tb

D. Fe?™

Answer: D

o Watch Video Solution

21. Which one of the following oxides is neutral ? A)CO

B)SnO, C)Zn0O D)Si0-

A.CO

B. Sn02

C.ZnO

D. S:0,

Answer: A


https://dl.doubtnut.com/l/_uu9CLgXya6tb
https://dl.doubtnut.com/l/_3KrhYMD9gpuF

o Watch Video Solution

22. The incorrect statement Among the following is
A)The first ionisation potential of Al is less than the first
ionisation potential of Mg. B)The first ionisation
potential of Na is less than the first ionisation potential
of Mg. C)The second ionisation potential of Mg greater
than the second ionisation potential of Na D)The third
ionisation potential of Mg greater than the third

ionisation potential of Al

A. The first ionization potential of Al is less than the

first ionization potential of Mg


https://dl.doubtnut.com/l/_3KrhYMD9gpuF
https://dl.doubtnut.com/l/_pah0iekVZIo6

B. The second ionization potential of Mg is greater

than the second ionization potential of Na

C. The first ionization potential of Na is less than the

first ionization potential of Mg

D. The third ionization of Mg is greater than third

ionization of Al

Answer: B

o Watch Video Solution

23. Which of the following compounds is expected to be

coloured?


https://dl.doubtnut.com/l/_pah0iekVZIo6
https://dl.doubtnut.com/l/_aOJKC8doD550

A. Ag,SO,

B. CUFz

D. CuCl

Answer: B

o Watch Video Solution

24. lonic radii of :

ATi*T < Mn" ™

B.2°Cl- < .3"Cl™

CK"™ >Cl


https://dl.doubtnut.com/l/_aOJKC8doD550
https://dl.doubtnut.com/l/_xWnAtFP0qNB4

D.F3t > F5+

Answer: D

o Watch Video Solution

25. The correct order of radii is:

AN < Be < B

B.F~ <0?> < N3~

C.Na< Li < K

D.FelT < Fe?t < Fe*t

Answer: B

[ o war_ao_L vl e~_ .. _


https://dl.doubtnut.com/l/_xWnAtFP0qNB4
https://dl.doubtnut.com/l/_0wPXz7RHBZmQ
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26. The correct order of acidic strength is

A. Cl207 > 509 > P4010

B.COy > NyOs5 > S0

C. Na20 > MgO > Al203

D. K50 > CaO > MgO

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0wPXz7RHBZmQ
https://dl.doubtnut.com/l/_m0HfkfXZFipe

27. Amongest H,O, H,S, HySe and HyT'e the one with

highest boiling point is :

A. H,O because of hydrogen bonding

B. HyT'e because of higher molecular weight

C. HySbecause of hydrogen bonding

D. HySe because of lower molecular weight

Answer: A

° Watch Video Solution

28. Assertion: The first ionization energy of Be is greater

than that of B.


https://dl.doubtnut.com/l/_LROoAkKDAivf
https://dl.doubtnut.com/l/_sIi4PLHHXGpm

Reason: 2p-orbital is lower in energy than 2s-orbital.

A.If both assertion and reason are Correct, but

reason is the Correct explanation of the assertion

B.If both assertion and reason are Correct, but

reason is Not the Correct explanation of the

assertion

C. If assertion is Correct, but reason is Incorrect

D. If assertion in Incorrect, but reason is Correct.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sIi4PLHHXGpm

29. The set representing the correct order of the first

ionisation potential is

A.K > Na > Li

B.Be > Mg > Ca

CB>C>N

D.Ge > S5i > C

Answer: B

o Watch Video Solution

30. Identify the correct order of acidic strength of

CO,, CuO, CaO and H50.


https://dl.doubtnut.com/l/_KYbyIOCIG6Gn
https://dl.doubtnut.com/l/_8OZUSEUpDXq0

A.CaO < CuO < H,0 < CO,

B. H,O < CuO < CaO < COq

C.CaO < Hy0 < Cu0O < CO,q

D. H,O < CO45 < CaO < CuO

Answer: A

o Watch Video Solution

31. Which of the following represents the correct order

of increasing first ionisation enthalpy for Ca, Ba, Se,

and Ar?

A.Ca < S < Ba < Se < Ar


https://dl.doubtnut.com/l/_8OZUSEUpDXq0
https://dl.doubtnut.com/l/_wvUqh62eSd5S

B.S < Se < Ca < Ba < Ar

C.Ba<Ca<Se<S<Ar

D.Ca < Ba < S < Se < Ar

Answer: C

o Watch Video Solution

32. The first ionisation potential of Na is 5.1eV. The
value of eectrons gain enthalpy of Na ™ will be

A. —2.55eV

B.—5.1eV

C.—10.2eV


https://dl.doubtnut.com/l/_wvUqh62eSd5S
https://dl.doubtnut.com/l/_mYDnrObcgtcM

D. +2.55eV

Answer: B

o Watch Video Solution

33. The ionic radii of N®*~, 0>~ and F ~ are respectively
given by:

A. 136,140 and 1.71

B.1.36,1.71 and 140

C.1.71,1.40 and 136

D.1.71,1.36 and 1.40

Answer: C


https://dl.doubtnut.com/l/_mYDnrObcgtcM
https://dl.doubtnut.com/l/_ZEECWUonyC3Y

° Watch Video Solution

34.The group having isoelectronic species is
AO ,F ,Na,Mg"
B.O*",F , Na, Mg*>"
C.O ,F ,Na", Mg*"

D.O*",F,Na', Mg*"

Answer: D

o Watch Video Solution

Jee Section More Than One Choice Correct Answer



https://dl.doubtnut.com/l/_ZEECWUonyC3Y
https://dl.doubtnut.com/l/_eRglIU85H5dK

1. Which of the following statements is/are true for the

long form of the periodic table?

A. It reflects the sequence of filling the electrons in

the order of sub-energy level s, p,d and f

B.It helps predict the stable valency states of the

elements

C.It reflects trends in physical and chemical

properties of the elements

D. It helps to predict the relative ionicity of the bond

between any two elements

Answer: A::C::D



https://dl.doubtnut.com/l/_wy2tMtlYgX0r

l D Watch Video Solution J

2. The first ionisation potential of nitrogen and oxygen

atoms are related as follows

A. The ionisation potential of oxygen is less than the

ionisation potential of nitrogen

B. The ionisation-potential of nitrogen is greater

than the ionisation potential of oxygen

C.The two ionisation-potential values are

comparable

D.The difference between the two ionisation-

potential is too large


https://dl.doubtnut.com/l/_wy2tMtlYgX0r
https://dl.doubtnut.com/l/_yIYEL0Bedgg1

Answer: A::B::C

° Watch Video Solution

3. Sodium sulphate is soluble in water,whereas barium

sulphate is sparingly soluble because

A.The hydration energy of sodium sulphate is more

than its lattice energy

B. The lattice energy of barium sulphate is more than

its hydration energy

C. The lattice energy has no role to play in solubility


https://dl.doubtnut.com/l/_yIYEL0Bedgg1
https://dl.doubtnut.com/l/_3G7ufLRLZf5U

D.The hydration energy of sodium sulphate is less

than its lattice energy

Answer: A::B::C

o Watch Video Solution

4. Amongst the following statements which is/are

correct

A. The second ionization potential of boron is greater

than that of carbon

B. First ionization potential of boron is greater than

that of carbon


https://dl.doubtnut.com/l/_3G7ufLRLZf5U
https://dl.doubtnut.com/l/_8BBuDez3yZS2

C. The second I.P. of Mg is greater than that of P

D. First I.P. of Al and Ga are almost the same

Answer: A::D

° Watch Video Solution

5. Pick out the correct statement(s) of the following.

A.All atoms with an odd atomic number are

necessarily paramagnetic

B.All atoms with an even atomic number are

necessarily paramagnetic


https://dl.doubtnut.com/l/_8BBuDez3yZS2
https://dl.doubtnut.com/l/_J1AmGwhBVKHG

C.All atoms with an even atomic number may be

diamagnetic or paramagnetic

D. Atoms with an odd atomic number may be

paramagnetic and in some cases diamagnetic

Answer: A::C

o Watch Video Solution

6. The increasing order of ionic mobilities is/are given by

AK" < Nat < Li™
B.Li" < Na™ < K™

C.Nat < Mg*" < AP


https://dl.doubtnut.com/l/_J1AmGwhBVKHG
https://dl.doubtnut.com/l/_IVLWe5vKWzjd

D.APT < M¢®’" < Na™*

Answer: A

o Watch Video Solution

7. Which of the following salts solution is/are acidic in

nature

A. NCLNO3

B. LiCl

C. BeC’l2

D. KCN

Answer: B::C


https://dl.doubtnut.com/l/_IVLWe5vKWzjd
https://dl.doubtnut.com/l/_qeKAzfh2KYdH

° Watch Video Solution

8. Which of the following pairs have approximately the

same atomic radii?

A. Zr and Hf

B.Rb and Cs

C.Pt and Pd

D.Zn and Cd

Answer: A:

o Watch Video Solution



https://dl.doubtnut.com/l/_qeKAzfh2KYdH
https://dl.doubtnut.com/l/_5kd8ivo4w7kw

9. If Aufbau principle and Hund's rule were not followed

A.Ca would have been d-block element with zero
dipole moment

B. Zn would have been s-block element

C. Ti would have been diamagnetic

D. Fe> ' ion would have 5 unpaired electrons

Answer: A::B::C

o Watch Video Solution

10. Which of the following pair of ions have the same

number of unpaired electrons


https://dl.doubtnut.com/l/_gk7uAYwF7NHw
https://dl.doubtnut.com/l/_Cp8jzaDWD6tF

A. Mn?" and Fe?t

B. Mn?T and Fe*t

C.Ti** and Ni?*

D.Co®*t and Cr3™

Answer: B::C

o Watch Video Solution

11. Select the endothermic step(s):

A8 (9) = 5" (9)
B.Na™"(g) + Cl™ (g9) — NaCl(s)

C.N(g9) - N (g)


https://dl.doubtnut.com/l/_Cp8jzaDWD6tF
https://dl.doubtnut.com/l/_1xoyoecSQ7FK

D. At (g9) — ABT (g9)

Answer: A::C::D

° Watch Video Solution

12. The elements which are radioactive and have been

named after the name of planet are

A. Hg

B.Np

C.Pu

D. Ra

Answer: B::C


https://dl.doubtnut.com/l/_1xoyoecSQ7FK
https://dl.doubtnut.com/l/_F5QHVF1lvsXy

° Watch Video Solution

13. The process requiring the absorption of energy is

ACl—-Cl™

B.O  — O*"

C.Fe*t — Fe?t

D.Ar — Ar~

Answer: B::D

o Watch Video Solution

Jee Section Reasoning Type Questions



https://dl.doubtnut.com/l/_F5QHVF1lvsXy
https://dl.doubtnut.com/l/_ZIfv9hpcXdga

1. Statement | LiCl is predomionantly a covalent
compound.
Statement Il Electronegatvity difference between L: and
Clis too small
A. Statement 1 is true, statement 2 is true , statement
2 is a correct explanation for statement 1
B. Statement 1is true, statement 2 is true , statement
2 is not a correct explanation for statement 1

C.Statement 1is true, statement 2 is false

D. Statement 1is false, statement 2 is true

Answer: C

I o Wiakt~hh \NtAdAaAa CAlLiikiAan



https://dl.doubtnut.com/l/_czcxtyXV7M53
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2. Assertion: F' atom has a less negative electron affinity
than CT atom.

Reason: Additional electrons are repelled more effectival
by 3p electrons in CI atom than by 2p electrons in F

atom.

o Watch Video Solution

3. Assertion: The first ionisation energy of Be is greater

than that of B.

Reason: 2p-orbital is lower in energy than 2s-orbital.

o Watch Video Solution



https://dl.doubtnut.com/l/_czcxtyXV7M53
https://dl.doubtnut.com/l/_kXXEefbnBQ6V
https://dl.doubtnut.com/l/_FIBGeWURPE3K

4. Consider the following statement

l.Electron gain enthalpy becomes more negative with
increase in atomic number across a period

ll.Effective nuclear charge increases from left to right
across period

lll.Electron gain enthalpy becomes less negative as we go
up a group

Choose the correct option

° Watch Video Solution

5. Assertion (A): lonisation potential of K is numerically

the same as electron affinity of K


https://dl.doubtnut.com/l/_nkhfFbDlAmtT
https://dl.doubtnut.com/l/_h5BleWfjVWX5

Assertion (R): lonisation potential and electron affinity

both depend on screening effect

o Watch Video Solution

6. Statement 1 : If a metal forms a number of ions such
as M, M?", M>" etc. then the hydration energies
associated with these ions increase in that order.

Statement 2 : The energies required to produce
M™, M?*" and M3" ions in gaseous state from metal

increase in the order M T < M2t < M3+,

o Watch Video Solution

Jee Section Comprehension Type Questions



https://dl.doubtnut.com/l/_h5BleWfjVWX5
https://dl.doubtnut.com/l/_OMoJAEyLdiLy

1. The energy required to pull the most loosely bound
electron from an atom is known as ionization potential.
It is expressed in electron volts. The value of ionization
potential depends on three factors: (i) the charge on the
nucleus (ii) the atomic radius and (iii) the screening
effect of inner electron shells. The ionization energies,
electron affinities, electronegativities, atomic and ionic
radii and other physical properties usually shown a
regular pattern of change within a group or along
period with some irregularities.

lonization energies of five elements in kcal/mol are given

below


https://dl.doubtnut.com/l/_7UpiUZPy5Sa2

Atom I II II1
300 549 920
99 734 1100
118 1091 1652
176 347 1848
497 947 1500

H I O T

Which element is a noble gas

A.S

B.T

C.R

D.P

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_7UpiUZPy5Sa2

2. The energy required to pull the most loosely bound
electron from an atom is known as ionization potential.
It is expressed in electron volts. The value of ionization
potential depends on three factors: (i) the charge on the
nucleus (ii) the atomic radius and (iii) the screening
effect of inner electron shells. The ionization energies,
electron affinities, electronegativities, atomic and ionic
radii and other physical properties usually shown a
regular pattern of change within a group or along
period with some irregularities.

lonization energies of five elements in kcal/mol are given

below


https://dl.doubtnut.com/l/_7Jm4HEVHbhnp

Atom I II II1
300 549 920
99 734 1100
118 1091 1652
176 347 1848
497 947 1500

H I O T

Which of the following pair represents elements of same

group

A.Q,R

B.PR,S

C.P,Q

D.Q,S

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_7Jm4HEVHbhnp
https://dl.doubtnut.com/l/_8WGi2XkzbB1l

3. The energy required to pull the most loosely bound
electron from an atom is known as ionization potential.
It is expressed in electron volts. The value of ionization
potential depends on three factors: (i) the charge on the
nucleus (ii) the atomic radius and (iii) the screening
effect of inner electron shells. The ionization energies,
electron affinities, electronegativities, atomic and ionic
radii and other physical properties usually shown a
regular pattern of change within a group or along
period with some irregularities.

lonization energies of five elements in kcal/mol are given

below


https://dl.doubtnut.com/l/_8WGi2XkzbB1l

Atom I II II1
300 549 920
99 734 1100
118 1091 1652
176 347 1848
497 947 1500

H I O T

Which element form stable unipositive ion

A.R

B.Q

C.P

D.T

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_8WGi2XkzbB1l

4. The energy required to pull the most loosely bound
electron from an atom is known as ionization potential.
It is expressed in electron volts. The value of ionization
potential depends on three factors: (i) the charge on the
nucleus (ii) the atomic radius and (iii) the screening
effect of inner electron shells. The ionization energies,
electron affinities, electronegativities, atomic and ionic
radii and other physical properties usually shown a
regular pattern of change within a group or along
period with some irregularities.

lonization energies of five elements in kcal/mol are given

below


https://dl.doubtnut.com/l/_q0h4lwiJ9ZqP

Atom 1

300
Q 99
R 118
S 176
T 497
If

Q reacts

II II1

549 920
734 1100
1091 1652
347 1848
947 1500

with fluorine and oxygen, the molecular

formula of fluoride and oxide will be respectively

A.QF;, QO

B.QF, Q-0

C.QF3, Q205

D. None of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_q0h4lwiJ9ZqP
https://dl.doubtnut.com/l/_CfHRk01I2G1S

5. The energy required to pull the most loosely bound
electron from an atom is known as ionization potential.
It is expressed in electron volts. The value of ionization
potential depends on three factors: (i) the charge on the
nucleus (ii) the atomic radius and (iii) the screening
effect of inner electron shells. The ionization energies,
electron affinities, electronegativities, atomic and ionic
radii and other physical properties usually shown a
regular pattern of change within a group or along
period with some irregularities.

lonization energies of five elements in kcal/mol are given

below


https://dl.doubtnut.com/l/_CfHRk01I2G1S

Atom I II II1
300 549 920
99 734 1100
118 1091 1652
176 347 1848
T 497 947 1500

“ DO T

The element having most stable oxidation state +2 is

AT

B.Q
C.S

D.R

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_CfHRk01I2G1S

6. The energy required to pull the most loosely bound
electron from an atom is known as ionization potential.
It is expressed in electron volts. The value of ionization
potential depends on three factors: (i) the charge on the
nucleus (ii) the atomic radius and (iii) the screening
effect of inner electron shells. The ionization energies,
electron affinities, electronegativities, atomic and ionic
radii and other physical properties usually shown a
regular pattern of change within a group or along
period with some irregularities.

lonization energies of five elements in kcal/mol are given

below


https://dl.doubtnut.com/l/_Te1McfBL2RKJ

Atom I II II1
300 549 920
99 734 1100
118 1091 1652
176 347 1848
497 947 1500

H I O T

Which is a non-metal (excluding noble gas)

AP

B.R

C.S

D.Q

Answer: A

o View Text Solution

Jee Section Integer Type Questions


https://dl.doubtnut.com/l/_Te1McfBL2RKJ

1. The value of n (i.e. principal quantum number) for the

valence shell of palladium is (atomic number-40)

o Watch Video Solution

2. Give the name and atomic number of the inert gas
atom in which the total number of d-electrons is equal

to the difference in number to the p-and — s-electrons.

o Watch Video Solution

Jee Section Matrix Match Type Questions


https://dl.doubtnut.com/l/_oC6FrbvTVXKI
https://dl.doubtnut.com/l/_Kjsw4byxC959

1. Match the nature of aqueous solutions of the

substances listed in Column | with the character listed in

Column I1.

Column I Column II
(A) KCN(,y (p) Strongly basic
(B) TiOH, (q) Neutral
(C) BeCly(,) (r) Weakly basic
(D) NaNOj;(,,) (s) Weakly acidic

o Watch Video Solution

2. Match the characteristics mentioned in Column Il with

the process in Column |I.


https://dl.doubtnut.com/l/_JYXkCCxSgTkB
https://dl.doubtnut.com/l/_74j07XR6MAdc

Column I Column II

(A) LiF (4 + Aqua — LiF(,, (p) Exothermic

(B) KF () + Aqua — KF(,) (q) Endothermic
(C) O te — O(_g) (r) Positive affinity
(D) O(_g) +e  — 02(;) (s) Negative affinity

° Watch Video Solution



https://dl.doubtnut.com/l/_74j07XR6MAdc

